Lecture 1

What is Grammar? Grammar is defined as the rules that say how words are combined
,arranged and changed to show different meanings.

The largest unit of Grammar is sentence ..

Alaall & il sas g 5STy | adline e jledaY LKl aplaii 48y 5k a5 Al Clac ) de gana s sl

.. Al enlaIs)

Teacher, Student, Question, Asked

Jia alans Wit bua s Leati i die VI Ll aan e 0 5SEY ( L mall e 4dla IS 0 jae o

The Teacher asked the Student A Question.
e L ey ima L LS i Ladie | J) s allal) JL el

The Student asked the Teacher A Question.
s alacdl) Jls QI il Rl (5 AT 48 g Walis ) Lovie

Sentences:- Jaall

A sentence is a group of words that expresses a statement, Question, Command,
exclamation..

{eaad el eJlpa ¢ dan } (688 GllS de gana o (oo 1 Alaal)

A sentence is consist of one or more clause and usually has at least one subject and one
verb

Jeld g anly Jad Lesd 5K salall 3 5 ST gl 3aad 5 dles (g () 5S5 Alaal
Types of sentences: - Jaall £l
1]- Statement :- 4l
Is a sentence which gives information's { declarative}
P dle {4 sl Fales eniy daglaa aad il ALl oo
Sam is studying .. JSIX alu
We can make the statement ether affirmative or negative.

e dgay peai alen sl duny e Alen dgny el Alaad) (5S35 O (S
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Beck went to New York last summer. = affirmative= 4id
Beck didn’t went to New York last summer. = negative = 41
| am writing my home work now. = affirmative = 43«
| am not writing my home work now. = negative = 4xtia
2]- Questions: - J) 3=
Is a sentence which asks for information's or make requests { interrogative }
Lellia { Aaledivd alan} anis alhs Jhd 5l daslaa o Jhs ) Alaall o
Is Sam study ? = question - J) s
Can | study with Sam? = request-—lk
3]- Command : -
Is a sentence which gives an order or makes suggestion { imperative}
lellia 5 {aY) dpa} caniis ) B 0285 5l pal aad il Aleall o4
Go study = order- >l
Be careful = order — «l
4]- exclamation: - il
A sentence which is used to express the speakers feeling or attitude.
I Gaaad Aadle Wany (o o 1 conatl) dipa iy |, oanitadl gl ol jelie ria i Sl dlaall o

What a lovely Day! — sl 13¢) 4dia g 5 Caaaiall = 58 (g0 a 55 Tdaen o 52 (00 4lly

Wooow | | loved your house - 1l addll Cilae) (saa goa5i | iy Cual S8 51

Amazing! - &)

Exercise

Identify the type of each of the following sentences.
a. statement b. question ¢. command d. exclamation

1.How often do you come here? B
2.How interesting this article is! =-D

3.Hurry up before the train’s departure! =C
4.How interesting is this article?= -B

5.This article is very interesting. =A
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Sentences :- Jal

.. Baza g ¢S ya ¢ Adapn dlen (M) and Jeal)
Simple, Compound and Complex Sentences:

1. Simple: The man is here. — 4aual 55 g ) 5Si g Adagsy

2. Compund: The man is here, and he wants to see you.

{But, and, or,so} Ll & sl Jeldle (5 ginds ¢ Alaliy 4 onda (piilen (o ()55 5 408 e

3. Complex: The man that wants to see you is here.
Jsena o) o slaall duina () ¢S5 g0 Lead dn J grdall 5 Jadll g Jelall s i Caliay Cuny diaa LgusS 5 ()5S0 B3 dlaa

Verbs:- Juady)

The verb is the central unit (nucleus) of an English sentence.

Verbs can refer to actions, e.g. run, walk and talk, or states, e.g. want, have and be.

=S ¢ e JSG aial) JLadY) a5 A8 ja Jadl (e i e 0 5S5, Alaal) (B 4 S all sas gl oo JladYi

Gl ) aalll Ay 501 Gl gadl 1 Gusada) 53 SI ol de )1 Calal gall L g adladl s Jledl ol

Main vs. Helping Verbs:- 3sluall Jadll g ol J2dl)

Each English sentence has a main verb.
caclie Jad g sind Alea JS a3V e S0 ¢ bl Jad g (s sind o Cany 4 alal Alea (S
e.g. Mohammed walked home.
ey s 5 pudal g adilud) dlaadl 8 Jadll
e.g. Khaled is happy.

axll) Aol . § bl Hla (oS acline Jud 4dl Ji5 s acbusal) Jedll s dleall 338 8 ulsY) Jadl
Dy caleall (B ol Jad 4dle IS 135 L Al dlas (5585 (e dlaa IS ul) Jad (583 0 5V 4 3l
Jad s gaal Gl | Slal ulal Jad Lgdle Alaall 5 aclue Jadjs Jf jasile Y | (oasbuad) Lelad debusall Jadll
il

Some sentences also require one or more helping verbs (auxiliary verbs).

Gl e 0588 QI Jaall (538 5 dleall (udhy delise Jod 5 s culi) J28 2 5a 5 T Jaall any
dh__{ing+¢»u‘dx§+lchudx§+dc\§} o peiacld 5 SN M\wmupw\

He is coming to the meeting.
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He could come here soon.

Helping verbs (auxiliaries) include:

ol i Ll Alaall (IS Jla 8 aplis) Jladl iiat 38 Lgmsan s . AN JLad) (et sac Lusall Jlady)

1. be (is, am, are, was, were) s<iwall alall 5§ il pa aaaind Al JedY) 4
2. have, has, had dleally 2 55 a1 13} 3o lisall Jlad¥) Jae dad ) JladY1 8

3. do, does, did dlaall aa 55 Al 131 3o luall Jlad) Jae da Al JxdY) 4

4. Modal auxiliaries: can, could, shall, should, will, would, may, might.. etc.

0585 Jaaiae JladY) 338 5 L &l ol actin g dala e g8 JladY) 338 dda g uiall Jladl) ansi s 51 sall Jledl
o any s Jed 2 Uiad Ll Jages cand S5 Alea b alil JaiS

Exercise

Identify whether the underlined verb is the main verb or the helping verb of each sentence
below.

a. main verb b. helping verb

1.Students like fast food.= A

2.He has enough money for the trip.= A

3.Khaled does not want to go to school today.= B

4.He is helping me wash the dishes.= B

5.He will arrive shortly.= B

Transitivity: - 4axial) Jdly)

Verbs are divided into two groups based on transitivity:
e 5 el Cua e Cppend I J8Y) s
1. Intransitive verbs are verbs that require no objects.
cAadgria e o it Y Al JadY) e daaia uadl JdY) ()
e.g. Birds fly. The man spoke.
2. Transitive Verbs are verbs that require objects. This group can be further divided into:
sV ity 4y Jpmie i I JladY) s asiall Jlady) (Y

A. Monotransitive verbs are verbs that require only one object:

http://www.entsab.com/vb/showthread.php?t=81453



http://www.entsab.com/vb/showthread.php?t=81453
http://www.entsab.com/vb/showthread.php?t=81453

e.g. Khaled broke the window.

B. Ditransitive verbs are verbs that require two objects.

sabe ilie e JAY) 5ol 3l Leasalec 4 Jsria o ST s dpaaial) JadY) -(
e.g. Saleh gave Majid a pen.

Exercise
Decide whether the underlined verbs are:
a. intransitive b. monotransitive c. ditransitive
1.The student needs a pen.= B
2.Ali told his friend a joke.= C
3.Students study. =A
4.Students study books.= B
Note: Some verbs can be either intransitive or transitive.

Direct vs. Indirect Objects: - ydlbia sl o pdlaall 4 J g2dal)

As we saw in the previous section, ditransitive verbs take two objects. One of these objects
is called a directs object and the other one is called an indirect object.

e e JAY) 5 il Laaaal 0l sade 4 (IS Gl JBA) 3 L LS
The indirect object comes first followed by the direct object in this example:
el 4y J gl angiy Vol Sl il sl 4y Jgaial
e.g. He gave me a book.

fonsaad S 3l e AY) 5 e Laaaal 4y (ol sade 4 agilall aleall

&l O ¢ alaka ¢ dlaa Jia e 8" ()5S Bale puilaall 4y 4l gaial)

Al Ll sl ) Ja bl o el s Ul paddisale (S il il 43 J smiall L
LSl s bl 4y gl 13
He asked the man a question.
ol e 4c sithe man s § 4dlull dlaad) (8 4y Jgraall (18
The indirect object is often equivalent to a prepositional phrase with “to” or “for”.

e.g. He gave a book to me.
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CASTY da aleadl a3 8 LA ST, Al aleadly A iy U alie ) GUSH i) 4y ) gadall

He gave me a book.
He bought a gift for his son.

coslial) (uSay ga Coa Al daad o ey saldl Cigoa i clladly il adl 4y J gaiall

ads dadll gl Gopel S | agle aly A o i) g8 4y Jprdadl €Y 5l 4y g Alaall 813 Ga el oS ks
S o) €0k Jla) adabiasy | Y 5l 4 Jsmiddl 138 e

Jlia
| watched Television .
bl 4y J srdall ga (g 38l Q) |y e alEl € Chaald 1Al

| called Sam.
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Lecture 2
What is a phrase? A phrase is defined as two or more words that function together as a
group. 4
vl ge sl Jad e laall o a5 lal) | Ae gana 685 ST ) uialS Leils a3 jlall
'(zu\%}‘\ém;by” c\J}u&sd.m

¢ Ladass caS 5 lall o L 1))

dim) (5Si5 " Aleall agilonl cilalS 3 jae "5 jal) (K1 A Al gaie 5 Jeld 5 Jab (e 0 sSE Alead) o oy Y
O3S S B olal), Lty (sime 35 Lo L3y b Alaall G e 05858 bal) L (L0 sl edpnalds e shea
dm@mlu@ydm@uy‘ﬁ\éaaﬂjmuuﬁ «Jad ..c‘;&;\ua';ﬁiaw\z‘_k—\é

e.g. The old man walked down the street.
AL lind g dualls alaa + Jall Jla e ST Qi lithae T LY |3 e e L L Gl Ja

There are a number of phrase types in English including: noun phrases, verb phrases,
adjective phrases, adverbial phrases and prepositional phrases.
Each phrase has a head and one or more modifiers.

dghHhll ol jlally ddall il jle 5 Jadll @l jlall Gpand 3l Leie Rl 8l jliall 5 58S o) il g
Al e,
2380 (g STy aal g ol ) gna L 5 jle JS
The Noun Phrase  4sawy) 5 jlall
The Noun Phrase (NP)
A noun phrase (often abbreviated to NP) is a convenient term for any of the following:
Lol dlallaiaall e gl g NP 2 L e 1 g 3 5lall

1. A Noun aY!
e.g. Ahmed, students

2. A Nominal Group  4seut) dlayl)
e.g. a blue pen, the students

Jad e (s sind ¥ L and 5 on Cioa sl i sl e 0 5SE Al Aleall o8 4] Aleal)
Each nominal group has a head and one or more modifiers.
Modifiers add to, change or limit the meaning of the head in a phrase. The head is the word
that determines the type of the phrase.

230 o ST g Ban) 5 At ) Al e, 4pand dea S
.M\t}bﬁﬁmu@a&u&s)\w\J\t}b}d\‘;‘g&umy‘JM\@MJJ&&)TMQ@JM\

For example, the word “pen” is a noun that can refer to any kind of pens. When we modify it
as in the previous example “a blue pen”, we limit the noun so that it can only refer to a
specific kind of pens.

Some other examples: Ahmed’s desk, a book store, the student

325 228V (e (pma g s 3 peailal) raal |51 Al Lo g Laaa Ll ST 3 g g ol g o 2 g, T84S e
enald ilall o aladl (5,50 alall Jis jadig (5,5 s dasall g alall & Ayl Adadill 13) | L (5, 5N ALl
d0na e ST L aal g g gemge o) A ) dai Ll

) (i€ e ? aeaf Al | (g AT AL
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3. A Pronoun sl

A pronoun is a type of “pro-forms” which are defined as forms used instead of other forms.

Instead of using the nominal group “the old man” we can use the pronoun “he”. Pronouns

include:

s 2ead an¥) Jo he_pasall aladin) Jie | o5 Jae s o5 aladind Jiad il s "ah 5" Gepsi o ilesal
aalll) yilaall Jaids g

a. Personal Pronouns: 4xaddl) il

- Subject Pronouns: 1, you, he, she, it, we, they  Jelall o

- Object Pronouns: me, you, her, him, it, us, them _4: Jszéall yilaa

- Possessive Pronouns: mine, yours, hers, his, its, ours, theirs_ 4kl e

b. Reflexive Pronouns: myself, yourself, himself, itself  agusi (alaidl 352t | 4milSail laa
c. Indefinite Pronouns: everyone, someone, something_ .. s3xsse sl yilell

4. A Pronominal Group 4 adll 45 geaall

e.g. we all, everyone in our class

In a pronominal group, a pronoun is the head. The pronouns “we” and “everyone” in the
previous examples are the heads of the pronominal groups.

bal) oadll 8 preall 5 &) aues ¢ IS Jie AT AS 4 e Ge o jlie (o L4 panall 4 genll

Exercise

Identify the type of the underlined NP.

a. noun b. nominal group c. pronoun d. pronominal group
1.The children went to bed late.= -b

2.1 made this cake myself. =c

3.Ahmed owns an expensive car. =b

4.Khaled bought a book. =a

5.The book is his. =c

6.Someone in our office forgot to lock the door. =d

Nouns stew)

Nouns can be divided to:

1. Proper Nouns:_ 4aq »all slaw)

e.g. Ahmed, Al-Ahsa _ .&) lac clua¥l sea]

A proper noun is the name of someone or something that is usually imagined to be unique.
Cme S 5l e (ot ol 58 1 g peall oY)

2. Common Nouns:_ 4xilédl slawd)

e.g. friend, desk, bird, air = &.. 4w ¢ ¢l ga ¢ alga ¢ Gaa

A common noun is a name given either to an example of a class or to the class as a whole.
Cele S8 JSS Al | cpma o i/ el aul o i 8 plan) a ranilil) clan)
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“Friend” refers to one example of a class in the following sentence:
e.g. 1. Ahmed is a good friend.
it bl JU) DA L dale g8 13| Amiig 48 o Gaddi ol e (Bl (raca dalS: ) 1aa L oS
"a generic noun_ ple aul "
“Friend” refers to the class as a whole in the following sentence:
e.g. 2. A friend is somebody we like and know well.
“Friend” in example 2 is called a generic noun.

Exercise
Identify whether the underlined noun is:
a. a common noun (example of a class)
b. a common noun (generic)
C. a proper noun
C")m(”‘“\ ce\.ceu\‘éweu\: w\&yah
1. Mohammed gave me a pen. .= a common noun (example of a class)
2. A pen is an instrument used for writing.= a common noun (generic)
3. Khaled’s car is new. .= a common noun (example of a class)
4. Khaled has a new car. .= a proper noun
5. Fruit is good for you. .= a common noun(generic)

Common nouns are usually found in nominal groups to help the speaker say which
particular example of a class he has in mind.
a8 L sl dioatal) acbisel dpen) dlead) 8 Llle andiud raailil) sl
The il 310 b (gl a5 Oivan O La 3 gl | alaall (5 puaiiy GOl Ul JEa) 4

Lo Capadl) 310 Y L e alee e A aleall 4y ) iy GOl ciaaa
e.g. 1. The students were waiting for the teacher.

e.g. 2. The teacher’s desk is new.
‘d}t.k‘_si MJM\M}LEGAJQJJM‘UJLE J.AASJ ‘_,JLA\ JM\ L,’A}

Proper nouns will not normally be modified this way. In other words, modification differs
between a common noun and a proper noun.
. (g_q_af_\j\ Sl L@.:LA e.ﬁ;_mu La L_;uz_a) ASM\ el .JJ..\;.} A\_Q._gJL u,us.u L&B.J:\.JAE e-u\! 3l L.é @)ml‘ cla!

Proper and common nouns (as well as pronouns) can refer to something animate or
inanimate.

Sas ol L oa el (g ilecallS caailial) clan¥) 5 4sy puall clanY!
a. Animate
Animate nouns refer to a person or animal.
e.g. Ahmed, friend, bird

Dl (aa ¢ daal | Jie L ol sl s Gl (e dualy ¢ 13 s23) 4pall clanY)
b. Inanimate s
Inanimate nouns refer to a place, thing or an idea.

e.g. Al-Ahsa, desk, air, freedom
agnll col gl glhac clua) Jia | 5 )S8 cdlaa (sf (S (Lgr daltye J 0 g2) Slaall clas
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Count vs. Mass Nouns  83gaxa il 98 gazal) olaw!
Nouns can either be countable (count nouns) or uncountable (mass nouns).
.(Mass NoUNS)zsaee s sl (COUNt NOUNS) 335320 & 585 Ol (Say ¢ Las)
Count nouns such as “friend” and “man” can be preceded by “one” and may have a plural
form such as “friends” and “men” which can be preceded by a number higher than one, e.g.
“two friends” and “ten men”.
Vool ala day Jsii D aeal) 5o 81 s Al elan¥) A "da )" 5 " Geaat Jia ;5 ganal) cland
Al sl | s

Mass nouns such as “bread” and “milk” cannot be preceded by “one” and do not have a
plural form.
&L oeladl 5 sl Jie | aendl Qi Y 1)) elan) 4 ladie S Al elawl) o B3 sana ) ol
53 yia Ladla glaw) 34 g
Lla 33 je ()55 | 33 sana e LY | Uad 2Midk sl Mitksd st ot le Milk e
Some nouns can be used as both count and mass nouns according to the speaker’s meaning.
Sl Baaly Lo o ading 138 5 Bagama 8 5 B3 g2re o sSH  0 phall 5 paad) Jl planl) (any
g Y e sl 5 Cgall Ga g gl o gl Gl g1 e gzl 5 galall (Y B2 sae e JIVI JEdl L3 Light dalS
e.g. 1. Light travels faster than sound. (mass noun)
e.g. 2. There are two lights by his desk. (count noun)
Lean Sy laalll 5| Al sUall Cuilay daalll "Aaalll™ Lo auady Light 4alS @ JEN JUal) i (S
AlSil) dale o aaied g L
Collective Nouns _4sslaad) slaw!
A collective noun is a singular word used to refer to a group.
e.g. family, team, public

,.ZJSLc:FamHyMSdL__mwQ; P PRECRCE L P PRGE DAY

@Al Ge suaill = team,  axisall = public S 48 lall i

A collective noun can be followed by a singular verb (e.g. is) or a plural verb (e.g. are).
Ol ) LS aen Jladl 5l 50 jie Jladl laamy U () Sy L daelead) slansY)

e.g. 1. Our team is the best.= is i Jad lgas

Our team are the best.= are gex Jad Lgas

It may be associated with a singular possessive form (its), or a plural one (their). _

Lyl aeall 52 sall, ASLall jilana ladey S S8
e.g. 2. Ahmed’s family moved to_its new home.= its 2 2«
Ahmed’s family moved to their new home.= their g

Exercise

Decide whether the following NPs can be followed by:
a. a singular verb b. a plural verb c. both are possible
1.Ahmed’s young brother =a

2.his family=c

3.juice =a

4.the company=c
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5.men=c
Lecture 3
Modifiers — casaall gf e aaal)
In our previous overview of phrases, we mentioned that each phrase has a head and one or
more modifiers.
OS5 () Cldanall aud (S |, 33na (e ST g dal g i) sgaae Ll BLe JS o) LB o ,AY) LS plalaa
1. Pre-modifiers are modifiers that come before the head.
i) E puagall gl ) gaall (Badl A g, ARLu gl ol Ciladaa
2. Post-modifiers are modifiers that come after the head.
il £ g gall gl gaall day U L g ABAY Ciadaa

Take a look at the following noun phrases (NPs).
AL JUa) & LS Abd i adaall |, sl (o 1 ganal) LS 1) AUl dgac) il jlaad) g Jaadl A1 a0

I

a good friend
my school friends
the headmaster of the school
the headmaster’s desk
several students
we all

gveryone in our class

%Jﬂjw‘geﬁggﬂ\uﬁ\"w\gﬁw@\ﬁ(MW}\J#‘) ol ) o asXig

When the head is a noun, modifiers usually precede it. Phrases like “of the school” follow it.

S JUiall 8 Las, Afilas culddaia ¢ 9838l 1) G daaall" il (il gaall) (il 1) (955 Ladis
A good friend
Friend = ol
A good = (G:lw s2aa
ol amy 3 L3 "I your class- of the school die (e_kie =phrase) " sasall " (S 13} (Sl
Jie 482y ¥ ama (S5

Tha master of the school
When the head is a pronoun modifier normally follow it

Jlia ABaY Cilaaaal) ¢y o€ih |, Aaili Ciladaall ¢ ppaida (il gaall) Gl 1) LS 1)
We all

We= the head = _«l_l
All = pre-modifier = @Y s
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pre-modifiers in the previous examples include the following main classes of words:

AN ¥ e 7 AT Y Al aliaY) & pre-modifiers 4l claasal)
1. Adjectives (e.g. good)
Friend (e oul ) 4ua g good 4dal)
2. Nouns which modify other nouns (e.g. school)
Friend ol g ¢ aas school Aalsl)
3. Determiners (e.g. a, the, my)

Exercise

In the following phrases, decide which of the underlined words is: a. the head b. a post-
modifier c. a pre-modifier

1.a big store =a

2.the store manager=c

3.the leader of the group =b

4.the group leader =c

5.someone in my office =a

Determiners — <ladaal)

Determiners are words which specify the range of reference of a noun by making it definite
(the book), indefinite (a book) or by indicating quantity (many books).

Determiners can be either identifiers or quantifiers

alad L, ol 1 U aaa cilalS o cilaaaal) o) 3 e LB S Modiifiers @isaall Lala
wald £ 58 Ao 3tk determiner 1 5 .. W) il guans ale JS8 cilaasal) sl & Morrifiers o
o LIS A g ol I L daa Al clalSl) A

1-definitet : (the book- <1l
2- indefinite: (a book- <)
3- indicating quantity: (many books- s S i)
: 4S5 i (e mand ) andli a9 U determiner b gaiall g2 134 g

1. Identifiers tell us either definitely or indefinitely which noun the speaker means. They
include:
8 Si gl 48 ma Caaaliall Baually La (IS 131 La Uil 1 iy gacil) <l gal A 9 Cild gl
a. Articles: - il &
(a/an indefinite articles- il <) gai), (the definite article- ciy sl 314)
b. Demonstratives:- e Y slaul
this, that, these, those

c. Possessive Forms of Personal Pronouns:- slexall 4S8kl dxua
my, your, his, her, its,our, their

2. Quantifiers- 4l yass
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tell us either definitely or indefinitely the quantity of the noun. They include:
Y 9 e aul) S 1Y) La U pds
a. Numerals: 3acY!
one, two, three... (cardinal numerals-= 2l ,¥')
first, second, third... (ordinal numerals= 4xs s} slac )
b. Words like: - Jie SlalS
much, many, each, every, a few, little, all, several,plenty... etc.

Exercise
Identify the type of the underlined determiner in the following
sentences:
a. article b. demonstrative C. possessive d. quantifier
1.This exercise is easy. =b
2.Their friend is here. =c
3.The visitor came early. =a
4.Many people watch the show every week.=d
5.These sentences are interesting. =b

Person, Number and Gender - £ ¢l ¢ daadl ¢ (aidd)

Person- gai-all

Nouns can be personal (humans) or non-personal (animals and inanimate objects).

Note: Personal nouns can only be animate (because they only refer to humans). Non-personal
nouns can be either animate (when they refer to animals) or inanimate (when they refer to
Inanimate objects).

K(.st.ﬁguaubyts)gauﬁéj (O] \ (5 ) (il (3953 28 aas)
S 35S0 La) g, Anadd ) pland) Lal |, cleadBU 3 ga LY Apad) Ll Jadd () oS5 Aadldl) pland) ; Aaadlet
dlaa dga 8 Gl o) @l gaalls Ana @llilg

We can also use the term “person” in a different way. Traditionally, personal pronouns
differentiate between the person speaking (first person), the person spoken to (second
person) and the people or things spoken about (third person).

9.08Y) Lt alhy M) (adldl) G et duadldl) jiladal) |, Adlida ARy jhy " adld! pllaaal) aladdiu LiSay
Gl el &l dde duaal) aly A £ AN o) addll g, AU GadAll dawy L) (i)

oadd (15 llad) B g g CUl (adldl) dde Gaaadiall Gadldl) /AU (edldd) adiual) /] gY) padudd) alkiall Ly
&M‘JAS:A=QS\&A.\£\9A\9A¢

e o

1st person pronouns: I, we (first person- Js¥) g=sill)
2nd person pronouns: you (second person- Ul =il
3rd person pronouns: he, she, it, they (third person- <dbll (aaill),

Number- aaxd)
Singular (number) or plural (number) affects the form of almost all count nouns, pronouns
and demonstratives. Here are some examples:
Lo 85 0 3l placd 5 pdlaall g3 ganall placdl) aran JuSdy AL aand) dasy) g 3 dal) dacy)
Count Nouns:- 83 s2al) slawd)
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student (singular- 2_sx)

students (plural - a=3)
fax 9 3 da Ciaald Aae YL o il 03 garal) slandl) o aadl

Mass nouns: are considered to be singular. e.g. water, rice (singular)
03 ke yiad LY il ol Bagana i) pland) LgiSay
Pronouns: sital
I, you, he, she, it (singular = 2);
we, you, they (plural = z«2)

Demonstratives:- s L) sleu
this, that (singular = 2_s)
these, those (plural= z<2)

Whether the subject is 1st person, 2nd person or 3rd person; and whether it is singular or
plural can affect the form taken by the verb.

e.g.

- He walks home every day. (3rd person singular subject)

- | walk home every day. (1st person singular subject)

- They walk home every day. (3rd person plural subject)

Gender - guia)
The 3rd person singular form of personal pronouns can be affected by gender as follows:
SIS muad | paiall g g i | Al el o jdall BN el )85/ S

1. The masculine pronoun= _Siall “he” refers to males = JS3all 352y jiaa,

2. The feminine pronoun= i3l “she” refers to females. =<igall 352y yrania

3. The neuter pronoun = &l gaad) g seall“it” refers to inanimate objects,

or to a person or animal not yet regarded as male or female(e.g. “Who is it?”).

;‘;\Jﬁq._\\.;d\‘):mﬁaﬂ

b OleaiS Al

(Cuise sl Sha s Ja Caymy V) de 5 Caym¥ () san ol padill 3 gadd jpaiall 13 adiing 4 sVl 4xlll &
4in Lo 5 ob (e alai ¥ LY WhO s it? Jsi (3all (e <aymi aly Q) 3k 13) Dl

Culdl) 5 Sl dne aadio Ul g it pecall aadia 1 o) uall aally (K1Y

The distinction between male and female may affect our choice of lexical items (words or
phrases)
ol bl g clalSll dpanaal) LAY Ao i o8 Culall 5 jSAal) (i (34
L Alead) ae oy Loy cilalS)) pua g coplhaal) 9, clalS £ g, cpeld Lnal | cuallal) o) B
Manda /headmaster 2« /woman i ! /actress 4lies
Man and headmaster can fill the slot in example 1.
HE UStall ciliua g (33155 WY L. day + e (A da) el (Al il
e.g. 1. Heisa good

Woman and actress can fill the slot in example 2.
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She .. cuisall ga qaadii | of pal g Aliaa (ialdl) Laiy
e.g. 2. She is a good

Note 1: The suffix “ —ess” is found in a number of words referring to
women , but there are other words referring to women that do
not have this suffix.
e.g. aunt, niece, nun
UYL Aald dBal = G 3 ga LY Adigal) cilalSl) (pa paml) B aa g3 " eSSt 4SS ; aBiadla #
Ay /il Cuy / #1 Cu /AR das Jia, ABall) 0dgy A5 Y AN Adigall ClalSl) (pa aand) 33 g oS
Note 2: Most nouns in English can refer to both male and female.
Euigall g SAall 3 gad Ay Sulaiyl Asll) L8 cilalSl e o ¥ Adaada #
AQEl) CilalSIS B gl) gty Euigall 5 SEal o agad g
e.g. friend &= /neighbor_s /teacher alae /nurse g s
cousin (JIsdl /YA /cles / alesl) ciliy + N gl Ao ks

Exercise
Choose the appropriate pronoun:

1. 1st person plural pronoun
a. he b. we C. they

2. 3rd person singular masculine pronoun
a. they b. it C. you

3.2nd person singular pronoun
a. you b. |
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Lecture 4
What is a clause? : deal) AL
A complete sentence needs at least one finite, independent clause.
A simple sentence is composed of only one finite clause, so that the structure of a finite
clause is identical with that of a simple sentence.
Aleall Jay) |, adape) Aleall S i sildae || 53 gasall Alaadl S 5 Y Bas 5 dlea (e oS5 Aapd) Aleal)
(Aol dleall & | 33 5354l
Subject Jeld +Verb Jad e 5 sisydlaall (e e g8 1 IS laialy
Here are some examples of one-clause sentences:
1. I have just telephoned Mohammed.
. He was my best friend.
. This is his photograph.
. At nine o’clock, we all gathered in the classroom.
. He always does his work perfectly.

D La Jadll g Jeldll

Each of these one-clause sentences has a subject and a predicate.
The predicate is what is said about the subject.
If either of those two parts, subject or predicate, were missing, the sentence would not be

complete.
LA dsade 5 deld L anlidl Jaall e dlea JS

Cdadll e ay L= Jeldl) ade JaSiy L sa 14 Jsrdal)
Al dlaal) ) oS ¢ a8 "y Jgriadl g Jelall™ (0 5al) aald 13)

However, in an imperative, the subject is usually unstated. 4
You ... (e aedd (8 dlaall 8 Ll jalia Jeldasd o 5Sle Jay 380 b Y salall Jeldl) ¢ ja¥) dana
c Sl JEaL, Jetal) sale dlaadl Siaa
e.g. Go study.
When the subject is missing, we assume that it is “you”, the person or persons spoken to.
The previous sentence can be expanded as follows:-
You go study. o 4
oo Sl el caadl = il = Jeldl ) Liagd oS0 jalia Jeld Lgadle + el Baa = 1 5 ,SI13a0 Caad

The subject of a clause is a noun phrase. The predicate is a verb phrase.
Every finite clause has the following basic structure:-
NP (subject) + VP (predicate)
The man bought a new car.
noun phrase = NP (subject) " 4ses) das 53 ke " | 4ens daall 8 Jeldl
verb phrase = VP (predicate) "aded Jes 513 ke " | 4sens dlaall 84y Jgniall

The Verb Phrase- 4ulsdll (5_lal)) 4laall
The verb phrase (VP) consists sometimes of a finite verb only.
e.g. We all waited.
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abaall Q) 8 LS Jadd Jad (e () 5S35 Ulial | dlail) 5 el ol ddadl] dlaal)
More often, the VP consists of a group of words (verbal group) with a finite verb as its head.
o For a clause to be finite, there must be a finite verb in it.
o For complete sentence must have finite clause .
33050 Jladl e (dalad 4e gana ) (oand Gl de gana (g S5 G Lede Q) (<)
e Jad o (s iat ol g Baase o 5Sil Aleall
Bamedlen o (5 gia0 o ong L ALlS dlen (S0l
Sxaa )18 (5 giad Y ALlS (585 (e Alea JS5 L Ba g (5SS a Y L OIS US

The verb can be either: Simple or Complex

Ldin sl T (6 38 Jadll
1. Simple:day
A simple verb consists of one word.
e.g. is, was, walked, sat, did
L5l s A e (5 iy gl Jadll
2. Complex- 3iza
A complex verb consists of a verbal group. _
A0 ANV LS | Alad de sana (5 ging diaall Jadl)
e.g. have telephoned, were placed, were waiting, did not like, could see

Finite vs. Non-finite Verbs: 83gisa i JladY) s 3 gasal) Jladd)
Finite Verbs
Finite verbs show tense, person and number.

The verb “be” in the following sentences is an example of a finite verb.
Lia ga . el (adidll ¢ e 3l 2aa3 saaaddl Jladd)

He is here.

They are here. (s aa= (=il 5 2aall 201

He is here today.

He was here yesterday. (L OlS sa= (e 3l 203)

Finite verbs can have three forms: - J&i ¥ L 33 gaaall Jlady)
1. The base form (simple form) of the verb
e.g. walk, talk, drink, speak

2. 3rd person singular form of the verb
e.g. walks, talks, drinks, speaks

Ll g jlaall 81S Jodll S (o ja ddlialy g g Calldll oyl JS
3. The simple past form of the verb

e.g. walked, talked, drank, spoke
Jadll bl Cay uail) ol aliie S 13 Jrdll ED ddlaly | Jeill Tyl acalall (S0
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Exercise
What is the form of the finite verb in each sentence?

a. base form b. 3rd person singular form c. past form

1.The manager talked to the employees. =c

2.He drinks coffee every morning. =b

3.Ahmed and Khaled usually study together. =a

4.1 went to the mall yesterday. =c

5.At eight o’clock every morning, my father goes to work.= b

Non-finite verbs — 83iaa i Jlady)
Non-finite verbs do not show tense , person and number .
The verb “come” in the following sentences is an example of
a non-finite verb.
3aaae ) JuadY) ana il U ALY 8 "Come"'Jadll aaad) cgadiill a3l 5edas ¥ saaae yuadl JladV)
1- I expect him to come soon. (u=sill 5 2aell 23 o1)
2- We expect them to come soon. (U=l g aall sasy Bl)
1- He is coming now. ((x 3 2as )
2- He was coming at the same time yesterday. (- 23 &)

Non-finite verbs can have three forms:Jidl ¥ Ll 3aaaa al) Judy)
1. The infinitive- syl diua

a- The infinitive has the same form as the base.

It is often preceded by an infinitive marker “to”.

b- In some cases (e.g. after modal auxiliary verbs) the infinitive is
bare (without “to”).

CJrall ¥ (Sl S L o ) dia
TO 5 suaall Jad dxuia Loy Wle
TO U sdaal) dadl) Sl sacluall 31 sall Jladl dey Dia | VA (lany 8

For example:
| am waiting for him to come. (z= s _xas J2d “t0”)
He can come tomorrow. (&sy ¢ oxeas J2d) “to”

2. Present Participle (also called —ing participle)
.Sl JES | il aball & jladl Jadll 4135 | Ing as J2dll aladsu) sa g
e.g. walking, talking, drinking, speaking

3. Past Participle (also called —ed participle)

Sl QB U griall ands o yry Lo ol CAlll) Ciy ol alodial 4
e.g. walked, talked, drunk, spoken
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Exercise

Decide whether the underlined verbs are:

a. finite b. non-finite

1.He was able to walk after physical therapy.
2.He is making a chair out of wood.

3.He made a chair yesterday in his workshop.

4.You should spend more time studying.
5.They spend time together every Thursday morning.

Finite vs. Non-finite Clauses
A finite clause is a clause which has a finite verb.

The previous above example has a finite verbal group, “is waiting”.
23na Jad o (5 siny a1 55K g aanall 50 ) dleal)
el 52l g il Waaa | aass Jad s waiting J=&) il JUd) 4
A non-finite clause is a clause which does not have a finite verb.

does not have a finite verb.
Js2éa anl jgjmdaj:qm%éddé; @il Al aBaaa yuall dleal)
e At least one clause in an English sentence must be finite.
e Simple sentences consist of one finite clause. ,
JIY) e saal gsaaaa alen e (g giad o a4y 3l G dlea S
Al JEal) 8 LS Baasa Jaa et adaseaad) Jaall
e.g. He is a student.

e Compound and complex sentences consist of two or more clauses with at least one finite
clause.

Al Jlall 8 LeS sanae dlas J8Y) e laaal Jas 32 e 653 A8 jall 5 aadll Jaall
e.g. He is waiting for the headmaster to come
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Lecture 5
Verbal Groups- 4:adl) cile gasal)
Verbal groups can be of five types:

¢l de gaa a1 25
adcw\dm\y‘w‘\.cwj\ddﬁ}ﬂ)dﬁ&&jﬁ;ﬂ%@w\%w\

_,&\yiow\&cwﬂ
Type 1l
casaclada g Judll Haae + Jage dod e 0 5S0 J 5V g il
(Modal can-could , may-might, shall-should ,will-would, must-ought to) + (Infinitive_x<=x)
Walk /go/ see/ read il ye (e Jdll sa Jaill jaan 5l aad) Jedll #
could see, will come

Type 2 Have +Past Participle:
il & Jbadll (e 3l (Have + past participle= Jzall Cullll cay paill) (e o sS4 SN g g3l
Al bl (33 ( Had + past participle= Jaill Ul cay paill) (e o <SGl ¢ gl
Have, had, or has

| have telephoned you
The class had begun

Type 3 BE +Present Participle: are coming, were waiting
Verb to be: (am, is, are, was, were)
A e Q) & gl
(Present Participle= ing & J=ill)+(is am are & Jbzaall \was were =ll)Verb be sacluall Jladl)
ING+ J=dll sa 11¢Present Participle 3 sa L 13
English is Interesting language
The movie was boring

Type 4 BE +Past Participle: is grown, was broken
s Al
(Present Participle J=ill ¥ < yaill)+(is am are g Jlasll \was were =ll)Verb besacluall Judy)
itis grown up .
The window was broken .

Type 5 DO +Infinitive: did not like, Did you know?
(do, does, did ) + Infinitive
Dot e d Gl e gl
Do=(do, does, did) + (infinitive verb= Syl (e & = jaaall Jadll)
U 1| JUR PR B S E
did not like, Did 2= 43 48lal 5] 05 Hamn ela Cany Jadll
Did you know? Did s 43¥ clilal § s jaas ela o ey Jaill

http://www.entsab.com/vb/showthread.php?t=81453



http://www.entsab.com/vb/showthread.php?t=81453
http://www.entsab.com/vb/showthread.php?t=81453

The first four types can be combined with one another to form more complex verbal
groups like:
Lot g 4 S ST Jea 0S8 addadl] e sanall (e 4xa )Y ) 5V pes (S
et i L O 5S O) s8 s paadl ddy jla s 5 (S

(Be +d=il ¥ <y ) +(Be + Ing+ J=dl) ) +( Have +d=3ll ¥ <y joa))+ Jase e Jl
el ) g Callil) /A 5 Y1/l ) S

Ua G0 5 GBSl JsY) a5 aal ) adis juaile #
Modal + (Have +Past Participle) +(Be +Present Participle) +(Be +Past Participle)

1- (Type 1 & 2) — (¥-Y) s paa
(Modal +Infinitive= Jxwall) + (Have +Past Participle= Jaill ¥ iy paill)
Ahmed will have finished that book by Friday

2- (Type 2 & 3)- (¥-Y) &= sl g
He has been learning English for four years.
(Have +Past Participle= J=all ¥ <& »aill) + (BE +Present Participle= ing +Jadll)

3- (Type 1,2 & 3)- (*-¥-1) glsi¥ gaa

He will have been learning English for five years by next October.

(Modal +Infinitive= ,x=dll) + (Have +Past Participle= J=&ll ¥ < »a%)+ ( BE +Present Participle= ing +
Jaill)

4- (Types 1 & 4)- (£-)) o= ) g
The president could be seen by everyone.
(Modal +Infinitive= ,x<x) + (Be +Past Participle= Jzill ¥ iy jaill)

5- (Type 3 & 4)- (¢-) Lo il gaa
He is being called now.
(Be +Present Participle= ing+ J=&) + (Be +Past Participle= Jadll ¥ iy puail))

All such groups are formed in the order 1, 2, 3, 4, as follows:
1234

Al 4 o L LS €YY &\;xj\ (i s 4 e cilS agLull JISEY) e

Modal + (Have +Past Participle) +(Be +Present Participle) +(Be +Past Participle) ‘
(Be +J2all ¥ oy ya3) +(Be + Ing+ J=&ll ) +( Have +d=&ll ¥ o pai)+ Jo e o5 J )

Note 1: The meaning of the verbal group is contained in the last word.
Jlie . Lgia o a4l A () 585 agdadl) Jaadl 3 il
He has been learning English for four years.
Ll el W e ) AISY o G st )Y QLYY ey OIS 4l salead) e sild) JUl S
Ll gy AaIS WS

He has been English for four years.
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18 sl g Y Rl o S0 (580 38| g Y ALY (g g OIS ) o pmila | aleal) Jina EA
EJ\EM&A&YM&}MQLSUL\L"_\Mj}w\wuk_}h;w‘)muﬁuhuuﬂQ\M@JYUJA—!\
o S i

Note 2: Only the first word of a verbal group is affected by person,
number and tense. The first word is what makes the group finite.
S QB 1) Al st ol el il ) agledl) Jeall 8 Jai 1Y) A

He has been learning English for four years. 2is he oY Has Liks ;
| have been learning English for four years. 2 Ll oo Have 335 | oY have [SHZEN
They have been learning English for four years. z== they ¢¥ have Libs

Verbal Group Types- Juaiill £15%) 7 i

Type 1:- ( Modal +Infinitive)

The main verb which follows a modal auxiliary will always be in the bare infinitive (without
“to”).

e.g. can see, could see

TO U5 Ddas O sSa (Frg il G5 Laila (s & sl 1 (8 2 sall 2ay Jadl
Il s <aS (1, you, they, she ,he,it) deldl)l ety ju¥ e aall § paddll i L Hagall #

Modals are not affected by person and number.
He must know how to speak English.
They must know how to speak English.
You should listen to your dad
I must pray on time
It could be cold outside
e J S it 8 Jelil) ol pa cadlia) Lo aia) 8 Sl gall o) Baadl | alsally 3lagall 5 o 4ias Je il
Al Al LSl | Baaae L) aale ) sty 53l La Ledl (Jina 128
All verbal groups beginning with a modal are finite.
Barsae Juzai S1 aaal) 5 sl Sl Le Ll pra | Baase Joge o T 1) Aledl) Cile ganall apen

Type 2:- ( Have +Past Participle)
This type is an expression of the perfect aspect. “Have” is used as a helping verb (auxiliary
verb). The helping verb “have” is finite and changes according to person, number and tense.
A FESON /P OSN[RS O e g D I PP N Pt AT
J=all ¥ oy paill +Have/ has + Jeld alasiul ga € LUl @ALJ\ / &thm!\ sale)
J2all EE Cay puaill + Had + Jeld pasing  alall
(.. il Jensd .. Alen slas Luis
P SIS () S8 i Bl iy i g aama Jladl a5 3aclus JilSHave / has /had axiis
(I, you, we, they) Jelll Gl 13 5 & jladll (a3l ae= Have
(She, he, it) delall G | & Juadl (a3l 2a = Has
(I, you, we, they she, he, it) deldll s e 5 bl (0 3 A = had
s
He has read the book already. (present perfect tense= Ul ¢ jlasll (10 9)
We have read the book already. (present perfect tense= Ll & jlasll (1 )
The students had already gathered in class when the teacher entered. (past perfect tense= -l xlal)
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Type 3:- ( BE +Present Participle )
This type is an expression of the progressive aspect. “Be” is used as a helping verb (auxiliary
verb). The helping verb “be” is finite and changes according to person, number and tense.
el sl /e jlaal) e B paitall Gla W) e e sa g sl 12a
el g aalle (addll pat Caua i g B0 A g Bac b Jil< ~2A% Be(is, am, are)sac buall Jlxayl
:Jla
He is coming. (present progressive= _iuws & jliaq)
They are coming. (present progressive= iuws & jliaq)
He was waiting. (past progressive= aiuae sala)
They were waiting. (past progressive= _aiue als)
Jelall iy a g Badaa LY deall S 8 cailial) sac el Jladll () Jaadls

Type 4:- ( BE +Past Participle)
This type produces the passive voice
cJsenall el dapa Lidany (a3l 132
The verb is active in this example:
Ahmed broke the window. (active voice= s stasll i) ‘
Al ddaadl 8 UGaie || 30Ul S daal
aslzall 43300 4Laallé 131 the window 42 Js=ie broke S Jzé Ahmed eaf Jelé
The verb is passive in this example:
The window was broken. (passive voice= J sexell i) }
I senall dnine Alaadl 13 Jeld aa o0 (K1 Jadd a4y Jgrda g Jad Ldie | aleallsda & 838U &S
S e alad Y ST & 3 o) e glaa Linie oMU S (g alad Y LY
Jsenall dgine gd | Jold Lgdla dlaal) 1)

Type 5:- ( DO +Infinitive )
In this type, the helping verb “do” is called an operator. We call it an operator because it
helps in a number of operations performed on the verb phrase (VP).
Some of these operations are:
aaladll o jlal) dlaall & lilasll (o 23l & ac b 4|l can e Jalaall o dO Jadll g 53l 128 3
DO Jalzall Lz o sy Al Cilalanll (ans 338
1- Operation 1: (Negative- i) g% daleal)
To form the negative, we put “not” immediately after the operator.
He does not want it.
They did not come here.

DO Jalaall 2233 silaa NOE ) 311 padins | & () <3

2- Operation 2: Interrogative - (question- J)s«dl) aaliiuy) ¥ daleal)
The interrogative is formed by placing the operator before the subject and leaving the rest of
the sentence unchanged.

Jlie Jaand (sl ()52 Aaall 48 &1 315 They Jeldll i DO Jalaall guad dpalgdind dapa o Sl
___They come here.
Do they come here ? (interrogative = J) s 4aua)

3- Operation 3: Tag guestion - 48 sil) Jlgut 4slanl
Y sl pad oailal 588 A sl s I yes/ N0 Q o 4djm pSimay M sy s S gl J) g
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He did his homework, didn’t he?
They don’t come here, do they?
Operators
In addition to “do, does and did”, operators also include:
1. The modal auxiliaries (can\ could ,may\ might, shall \should ,
will \would, must\ ought to)
- Lyl anaty el “do, does and did”, ALYl
1. The modal auxiliaries- 324!l (can\ could ,may\ might, shall \should ,
will \would, must\ ought to
Operation 1: He could not come.=
Operation 2: Could he come?= algdisl
Operation 3. He couldn’t come, could he?= S 5 J) s

2. “have”, “has”, “had” as helping verbs (and sometimes as main verbs in British
English).

(a5l ie dgads JladlS 230 Ula) 5 ) 3aclse JWdlS have™, “has”, “had”
The following are examples of “have” as a helping verb operator:

e b JriSHave dalaall 40 Jeall

Operation 1: They have not come yet. = &
Operation 2: Have they come already? = aleiv)
Operation 3: They haven’t come yet, have they? = S 55 J) 5

This is an example of “have” as a main verb operator in British English:
&8s J=8S Have Jall Jial) 8
Operation 2: Have you any money? (British English)
Compare:
Do you have any money? (American English)
Jadll 5 amal) Jadl) ciae Jang Jad S 1Y) s Jad G Alaall 8 J)sad) sl 05508 || duila jull 4y jalasl)
WH Q sl aclise Jriy V) dlaall Tag jaiile | 40S) 30V 4 jaladV) uSay acLisdll

3. “am”, “is”, “are”, “was”, “were” as main verbs and as auxiliary verbs:

33 Lisa dm‘ P ‘;E'...E' dmts “am”, “is”, “are”, “WaS”, “Were”
The following are examples of “is” as a main verb operator: 4
bl Jni€ |5 00 ALY
Operation 1:- He is not here.
Operation 2:- Is he here?
Operation 3:- He is here, isn’t he? _
aaly Giia Jrb g JBY) e g gind o 3Y dlead) o Wl g AT Jedl 438 Le daadl ()Y 4pulil L 5 o L je oS
The following are examples of “is” as a helping verb operator:
caclie Jei€ |5 Al ALY b

Operation 1:- He is not coming.
Operation 2:- Is he coming?
Operation 3:- He is not coming, is he?

Coming b sa JaT Jad et daall 0¥ apuld e s La
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Lecture 6
Form and Function
Form:- is what the word/phrase/clause look like.
e.g. noun, verb, noun phrase, verb phrase, relative clause
3 anlS Cela Ll Sl daa 43l Sl (4leadl clause /342 phrase/ “lSliword ) < JS5 & izl

verb phrase sl prepositional phrase sl .. Noun phrase 4l 3 e 3Ll 5 Jeld
Function:- is the “job” of the word/phrase/clause in a sentence.
e.g. Subject, Verb (Predicator), Direct Object, Complement

A Ly Al dduia gl ay calaadl d (Aleadl clause /3)kall phrase/ aSliword ) J dae o 5 1adida 5l
alaall & (Alesll clause /32l phrase/ 4Sllword )

i gl aah s 06 of (S lia Jadll s | J2€ — Predicator /Subject - JeliS cuila Leil Sl
dadd (p3S) Jad ey Jaith | AWlS (5 5S) Wl dia oS- )

o4l Cilan g las oo ) L Subject ) vivs 5 Predicatoraive J=8ll ¢S5 W adda g ) 56- Y

Complement 4leall AL i / Direct Object ilse Jzé & Lyl 5 a8

Exercise
Choose (a) if the given term refers to a form_and (b) if it refers to a function.
a. form b. function
1.pronominal group =a
2.indirect object =b
3.complement =b
4.subject=b
5.noun phrase =a

Functions of the Noun Phrase (NP)

Function of the NP- 4xew) dlaal) ciilia g
1- Subject of a Clause — 4leall Jelb
As we mentioned in Lecture 4, a sentence needs a subject in order to be complete (except for
imperative sentences where the subject is unstated).
ilex Conpal W5 Jeld o s sind o )Y Aea (ol xy L JaiSal Jeli zliag alaall of 4] 1) 3 jualaall 8 Ll

e.g. go study= (unstated) 5 SIall il caadl il 3 geaiall ) Gedi o)) gadai (K1 5 ) 83yt Jeldl)
you Go Study

e.g. The old man is here
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The old 4leall o34 40a 13 . _Nominal group -4xes) 4lea 25 The old man s 4leall o & Jelal)
Jeld gl s 5 4aul alea man

2- Direct Object of a Verb- J=ill &bl 43 41 g2dal)
Transitive verbs require an object. Mono transitive verbs take only one direct object.
e.g. Ahmed finished his work.
Lid ile Jymia o (gsing g si ue s Al Al 4 Jsrie Lo gsing o300 Jadl) O 481 & pualaally Lisa)
Mono transitive verb 4w

Ditransitive verb 4sewis yilu pe 5 pilu 4 Jgria Je o 5ian JG ¢ 4l
Mono transitive verb i <igds Y|

e.g. Ahmed finished his work.

Ahmed= Subject = Jeld

Finished = verb = Jaé

His work = direct object of the verb = J=dll )il 43 J s2sa

o8l 05 L Aleall o A LS aal g4y Jsrbe e 4 e SN YT TY ) il 4g Jgmdal) O Copmi CaS #

Loalaall Al by OKe sl dlea i e o3 058 bl 4 Jsaid) 1 LS
To / fordie sall Gas a4l Capai jais + Jadll 22y by spaca sl and 5 salally pilae ) 4y J sniall Ll

3- Indirect Object of a Verb- Jzill jdlua yal) 4 J sadal)
Ditransitive verb 4samig il e 5 il 4 Jsnde o (g sing (621 2 )3 Jadll S0 g sil) dali (Y1

Some transitive verbs require two objects. These are called ditransitive verbs. They take a
direct object and an indirect object.
LAl e AY) 5 8l o) Gl =i AU Ditransitive verb ) Jas

t ) e oSUE Y Y g e 4y gmiall Ca el Ul ; Sl #

ol S L alaad) oda 8 LS aal g4y Jgmia e 4ile (IS 13V Y

Loaleadl AT by e ol slea e o8 05 pdlall o Jsriall 1 Ll

To / for Jie sall Cagom al Ciual o+ Jadll any iy pran sl and S0 8alally 8l juadl 44 Jpmiall Ll
e.g. He gave Khaled a book.

gave = Jadll

a book / Khaled il ne 5 pilia 40 (3l 9284

bl 4 J griall a0 el + dlea 45N / @ ook = _pilall 44 J g2l

To / for ) canmi 5 + Jaill 2y (3 + (il pud A 0V / Khaled = sélae s 42 Jsnie

He gave a book to Khaled
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The shopkeeper sold him some snacks.
Sold = J=dll

odle e 5 il 4y (pl grie
ilie uadl 4y Jsmiall 22y els + dlea 43Y / Some snacks = il
T0 / for 4 i i+ Jadll aay (S + (ol ol A Y [ him = 8l il 43 Jsaiall

The shopkeeper sold some snacks to him.

4- The Complement of the Subject +BE (is, am, are, was, were)

BE (is, am, are, was, were) + Jo il alagal) ileyl

A complement is a word/phrase/clause that completes the meaning of another
word/phrase/clause.

It is necessary for the meaning to be complete.

st Alaps saclBal g i) 1

Complement 4asall + verb to be (is, am, are, was, were) / 3bus J2d +Subject / Jelé

- 4alS ) e LW JeS3 3l 5 ¢ Clause-4daa i phrase— s ke sl word — 4alS (& dleSdll dlaall Al
Al (.Clause-4daa sl phrase— ot siword

aadls ()5S alaadl la je (e OY L ral) (eSS Lass o € L g0 ()

Ahmed is my best friend.
is = La bl Jd/ Ahmed = Jeld

=my best friend.

My “sens¥! aleall s Cansl L O dsand 4 sena 8= Friend S 5 bestdsY) Guemsl (o () 5S5 4ransl dles
daiialy e g dualli aleadl (ST e e Y. Jadll 5 Jelil) e W) JeS5 (o Lgdinz s s pest friend
ay cag Gl Jime Gen dles G jla 13 6 (25 Y 5§ aleadl (e agdiy i) ] LSw g Ahmed is Ul ) D
ALl dsany) aleal)

Note: When the complement is a noun, it must agree with the subject in number and gender.
ool g aaedl & Jelall ae 385 () cang sl ALKl 5 5lall cilS 13 ddaa
Liaa) man ()9S5 g IS 1315 3 580 () ¢S5 AlaSall dagan) alaad) (S50 jaa Je i) IS 1Y) Jiay
Al et Jaall 4t o oy e ol SAa K13
Ahmed is their uncle. (not “uncles” or “aunt™ ): Jt«

Lyl 3 e aleSall dansY) Aleadl il 3 jie deaf Jelall (Y | aleef 5l dac Wl L
Sarah and Huda are their aunts. (not “aunt” or “uncles”)
e LSl e Aleall Ciplad aan (638 53 s (Y alee ] 5 dae LB L
The full verb “BE” in this example only serves to join the subject and the complement
together.
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Jaad Laa M\WY\MQ&:N\&J@M\ IRV gd\jé,g.ﬁaJVerbtobeJ\d,é

In this case, the full verb BE is called a Copula (=something that joins things together).
There are other copulas in English, for example, the verbs “become” and “seem”.
copula (Verb to be) Jzd e (dad Jelally aleSall dpan¥) Jaall day 5 aebisall Jadll IS 1)) allad) o228

o) Leary LSV Jaa i ) Jay 5 slal i
become / seem Jis verb to be Jxé e 4 5a3¥) 8 a0 copulas -y Jladl la*

5- The Complement of the Object- 4 J griall Alasal) Avan) Alaal)
In the previous example, the noun phrase “a good student” is the complement of the direct

Sl JEal 8, 4y Jgmiall ina JaSis s ., imall (oS5 Lans) (o ALeSall 4pansY) alaal

He found Faisal a good student.
He = Jeldl

found =d=dll

Faisal= dbuadl 40 J szdall

(s 3aad Jiah (e Cany ¥ Jixg Jrdlly o g8 L) ST Jad ge iy Bs e Jed la Found Jadl

da b Jiad (b think/ Believe iz 431 s 5 s sixall izall laFound o ) seaialld

Gy OIS G x| Jemih aa g S il 5 s ) (5 5ine (0 Saall paad || LS He found Faisal L %
alaall A AN 4y Jsnie aa ¥ 4V < bl 4 J sniall aleSa 4gand dlaa ) zlisg Uil 13a galdl] | Dlad aie

object “Faisal”. Compare the examples in (a) and (b) below:
In example (a), “Faisal” is an indirect object and “a book™ is a direct object.
The sentence means that the teacher looked for a book to give to Faisal.
In example (b), “Faisal” is a direct object and “a good student” is a complement.
The sentence means that the teacher thinks that Faisal is a good student.
4l (b sa) &4ty o el dball 4y J smaall 45 laa

a. The teacher found Faisal a book.
4 ol sria o (s gind s Juandl QLS (e Gandly a6 43Y JB8a Jed Found dad . JGal 12
DAkl 4 J gadal) aay els + ¢ 5 43Y /abook = il
To — for 4 cawcai o)) Sy + J=dll 2 ela + sl ela Y / Faisal = il )
o SUL alaadl g 5 awed e
The teacher found a book for Faisal.
b. The teacher found Faisal a good student.
Believe / think (s2e .. (ss2e 28 Found J=all JUall 1aa 8

a4 Jgmba ye Mal Laicle 48 ¢ il 4 Jgzia 58 Fajsal 4 Jsziall s
Faisal 4 Jsxdall 4leSa 40l e 3 good student

6- Object of a Preposition- _ad) < ad J g2da
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99 ¢ 99 ¢¢

Prepositions are words like “in”, “on”, “of” and “off” which are normally followed by a
noun phrase.

.(noun phrase.) 4ss! s lxs 3B ) (in, on, of, off) Jie «lalS o sall Cag s

(o) Gl Jgmia) (oand ol s &l Al dgand) o jlall-

e.g. - We are in the same class.

oall Ca » = The proposition = in
oAl Ga Jsada - Object of a Preposition (x OS5 4sanl o e A= the same class
Preposition Phrase s sl 5 Jlall 3 e ol = in the same class

- He walked on a high platform.

ol s = The proposition = on
oall ca s J =4 - Object of a Preposition (e 058 4l o jle A= 3 high platform
Preposition Phrase s sl 5 Jlall 3 e wud = on a high platform

The noun phrase that follows a preposition is called the object of the preposition.
In the two examples above, the noun phrases “the same class”
and “‘a high platform” function as the objects of the prepositions “in” and “on” respectively.

7- Appositive to another Noun Phrase - Jadl
An appositive is a noun phrase (NP) that describes the same person or thing as another noun
phrase (NP) that came before it.
" Al Al dpanl o jliaS o LAl g Gadidl) iy Caal Al dpenY) Milea "o bl 4 1da)
anit o 5 5} Gt Bl i G g+ " Jeald agia ealy al Gan o)) "= (ialiie e (e 48 S 1)
"Appositive" Ju dlas

e.g. Your friend Ahmed Al-Ali is here.
e In the previous example, “Ahmed Al-Ali” is an appositive.
It is in apposition to the noun phrase “your friend”.
Both NPs “your friend” and “Ahmed Al-Ali” describe the same person.
Noun phrase .4l o e aYour friend = o s¥) 4xesl) o Ll
" Appositive " Jv dea (e, 4uilil) Liawy] 5 Ll 238 Ahmed Al-Ali= 456 4ren) dlaal)

Exercise :Choose the correct function for the underlined NPs:
a. Subject b. Object c. Complement d. Appositive
1.His father gave him some important advice. =+b
2.Ahmed’s uncle lives in Riyadh.= -a
3.Ahmed’s uncle is a successful businessman.= -c
4.Khaled has a lot of books in his room. ==»-b
5.The teacher gave the students exercises.= -b
6.My brother Saleh studies at King Faisal University. =-d
7.The manager found him a hard working employee.= -c
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Lecture 7
Types of Apposition
In Lecture 6, we mentioned that one of the functions of the noun phrase (NP) is as an
appositive.

Jall & asen) s jlaall Cailia g aad o B SO T o pandll
We defined an appositive as a noun phrase that describes the same person or thing as another
noun phrase that came before it. ‘ ‘ ;
A AdaaS (adldll Sl e LAl Cuai agand Bl adly Jadl b e
In this lecture, we will discuss the types of apposition.
Apposition can be either restrictive or non-restrictive- e ypall 5 adall Jal)

A- Restrictive Apposition +8all Ja
e.g. Your friend Ahmed Al-Ali is here.
In this example, the second NP “Ahmed Al-Ali” restricts the meaning of the first NP “your
friend” by giving an answer to the question “Which friend?”
e We call the NP “Ahmed Al-Ali” in the previous example a restrictive appositive.
&l "0 gl Ol g Lildae b "elipnia " 161 syl o jlall iae sad " el dead "4l o jlall JUal 128 8
U dead lipna LB L o) allA dea) dena Gona (sl Liagh Lo, Ui dlipna U 1 (s a0 5 la "¢ Garea
Cdull Ay 15 Gadea (o Wl i " st Y1 s lall W Ciaia
Note: In this type of apposition we do not use commas before and after
the appositive.

Loablals gl assiiile Jadl (e g il 138 b adas Dl
B- Non-restrictive Apposition fa jall Jaul)
e.g. Ahmed Al-Ali, your old friend, is here.

In this example, the first NP “Ahmed Al-Ali” is a proper noun which is unique and does not
need modification.

a5 zlingle oy el ans) Cojrile i g e anl (o " el daal™ 1Y) asaiVl o jlall | Q) 12

The second NP “your old friend” does not tell us which “Ahmed Al-Ali” is here but only
adds information about him. ‘ ;
aalay se e peal) a1 Y U il deal e s Ut Y M) liyaea M agiliY) asen) 5 lall
. SIY Al daglas 4 L Mainsio e
e We call the NP “your old friend” in this example a non-restrictive appositive.

Note: In this type, we use commas before and after the appositive.
".J:\EA ).15 J.J.\ "o “\_Lam\ WY\ z:)\.}aj\ LEA“"
Lyl Laany 5 Jaull eV alead) 8 aliald aodies Lails Jadl e g sill 138 e : adaa Dt

Exercise
Decide whether the appositive in the following sentences is
restrictive or non-restrictive:
a. restrictive b. non-restrictive
1.The shopkeeper Othman is a hard working man. =a
2.Dr. Omar, my Linguistics professor, published a book.= b
3.Majid and Saleh, my cousins, will visit us tomorrow.= b
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Prepositional Phrase (PP)- sall Gia dlaa
We mentioned that a preposition is a word like “ in” or “on” which is followed by a noun
phrase (NP).

NP axend don + x Cia e osSE " g mal) 5 olall " all Gia Alea o J (e LS
(On—in—with ... ) Jess a A Jllan
e.g. Mohammed is in the classroom.
* In this example, the phrase “in the classroom” is called a prepositional phrase.
It has a preposition “in” and an NP “the classroom”.

The function of the NP in this sentence is the Object of the preposition
e Alaad) Sl ) QU

Mohammed =subject = Jelé
Is = H.v = el J2d
In = preposition = J> <~
The classroom = NP = 4xeul s
IN the classroom = _all s dlaa
in sall Ciad 4y Jgaie il 4 = The classroom = NP 4sel dleal) ddua g

*A preposition normally comes before an NP, but it can also be separated from its NP as in:
aleall e sl Ga duadiy o)) Liagl Sy VA oany & ST ¢ dan) o jladl 38 Sl ) G s 3aladly
) ALY 3 LS A e
e.g. The man is standing on the platform.
Gl s Le taa s dsans) aleal) J el Gipa OIS Galadl QU b
What is the man standing on?
LS L Jle saall ol sl o 1Al ool 4y Jsrie (o (A" alead) (S5 a5 Y a8 ¢ J)paadl a8
bl I

The platform that the man stood on was very narrow.

PCSTTRGH ERE P NPT PENTERTIREVI 1| [EU PEN | N R PNy O g LN R KT it
However, in these examples, the association between
preposition and NP still exists.

aleall S5m0 1 3Y a3 oI

Prepositional phrases can express a number of ideas, including:
1- Place- ¢\sall

e.g. The book is on the desk. (pp)

on the desk =¢lSall e Ji ja iy slea

2- Movement- 4s_al)

e.g. He walked to the mosque. (pp)

to the mosque = 4S )~ sl olai) e Js5 ja o ja dles
3- Time- cégll

e.g. | finished the exam in one hour. (pp)

to the mosque = Bl e Jui ja <o ja dlas

4- Manner- 43 !

e.g. He finished it with little effort. (pp)

with little effort = 4& kil e Ju5 ja o s ales

5- Purpose- - &aial)

e.g. This message is for Ahmed. . (pp)
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for Ahmed s . 4lls )l o3a ()l

6- Agency- Jreal)

e.g. The window was broken by the young boy.(Passive) (pp)
by the young boy = J seaell il

7- Instrument- 31a¥)

e.g. | wrote with a pen. (pp)
with a pen = Al 31aY) ‘_A.C Jas P LJ);‘\LQ;

Exercise
Choose the meaning expressed by the Prepositional Phrase in the
following sentences:
a. place b. time C. manner d. instrument
1.My office is located on Riyadh Road. =a
2.He graduated college with a good GPA. =c
3.He fixed the door with a hammer. =d
4.They will visit us on Monday.= b
5.The artist finished the sculpture with great talent.= ¢

Functions of the Prepositional Phrase = sl ci s dday ciiliag
1- Adjunct-4iLasy)
An Adjunct is a word/phrase/clause that provides additional information about another
noun/phrase/clause. It is an optional part of the sentence. If we remove an adjunct, the
meaning will still be complete and the sentence will still be grammatical. It is not a necessary
part of the structure of a sentence.

LA A /o e AL J A sles Capai Alen /o e /4S8 = Adjunct-ailsY)

cAasaa s 4lalS aleall () oS54 0 Y ¢ aie ol Sy Alaal) 3 s AN ¢ A

Adjuncts are usually adverbials.

. i 48l (S0 La Bale
As an adjunct, a prepositional phrase is considered an adverbial phrase because it does the
same job as an adverbial. ‘ ;
LB b gl ady J585 @Y | 4 i dlaa i adl (o dles ¢ 4dlalS
An adverbial is a group of words that does the same job as an adverb. In other words,
adverbials can be used to say when, where or how something happened.
as S 5ol ¢ e e il axdinn G pall 5 AT 5 ey (o pall 4 gl Lay o 55 IS de ganar i puall
¢aaal)
*The man stood on a high platform. (adverbials of place)
This prepositional phrase (PP) is an adjunct that tells us where something happened.
on = e~
a high platform = 4wl o le
on a high platform = _soaall 5 jladl dlea = o) o s dles

* | finished the exam in one hour. (adverbials of time)
This PP is an adjunct that tells us when something happened.
in=_»w»
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one hour = 4wul o e
inone hour = Ly el 5 sl 6 le

* He finished the exam with little effort. (other adverbials)
This PP is an adjunct that tells us how something happened.
with = s <

little effort = 4xeul o sle

with little effort = oIl < s dles

Note: Compare the definition of adjuncts in this lecture with the
definition of complements in Lecture 6.
L6 o palaall (pe ALSA 5 adlial ) 40 jlia
*A complement is necessary for the meaning to be complete. If we remove it, the meaning
will be incomplete and the sentence will be ungrammatical.
< Aapaia dlaal) (Sl 4y )5 i AL
kA alaa Ciaval galead) Jime 30 Aleald) e A& W)
* An adjunct is not necessary for the meaning to be complete. It gives extra information. If
we remove it, the sentence will still be grammatical.
L adlial daslae JaniledY | e (e dasnia o 5SE ) aleall (S 4g 5 i e 4dla)
- LS alus alaad) e By Leie oLl (S
2- Complement of Subject +BE - L) Jadl) 4+ Jolill Alagal)
e.g. The book is on the desk.
In this example, the prepositional phrase “on the desk™ is the complement of the subject “the

b L]

book” and the main verb to BE “is”.

: d.xhd\ JEA) 65
The book is = NP= el Jad + Jeld
on the desk= prepositional phrase= e luall Jadll 5 JelaldleSa b5 )5 me 5 Jla dlea

3- Post-modifier in an NP- 4xaw) o lal) B (3adl) Janal)
e.g. The desk in the classroom is covered with books.
In this example, the prepositional phrase “in the classroom’ modifies the noun phrase (NP)
“the desk”. The NP is the head and the PP is a post-modifier because it comes after the head.
The desk = NP = 4seu) dlas + alaall il
in the classroom =preposition phrase (pp) + Post-Modifier

"alaall Gl "o cila LY Y Jaed Hgaall 5 lalls jle il U

4- Complement of an Adjective — 4dall dalal)

e.g. Ahmed is good at Mathematics.

In this example, the prepositional phrase “at Mathematics” is the complement of the
adjective “good”.

e.g. Ahmed is good at Mathematics.

"aa " adall Akl & " at Mathematics” soaall 5 bl 3 jlbe - JEA) 30
Ahmed = 2 ypa aul
[s= aclus Jad
Good= adjective = 44a
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At Mathematics = preposition phrase + complement of adjective "Good"
At Mathematics= 2 4eall il 4+ 5 5m0 5 jla dlaa

Exercise
Choose the correct function for the underlined PP.
a. complement of subject +BE c. adjunct

b. complement of an adjective d. post-modifier in an NP

1.We finished our exam in 2 hours.= -C
2.We visited the big shop in the mall.=d
3.Mohammed is fluent in English.= b

4. Ahmed was in his uncle’s house.= a
5.Ahmed’s uncle has a big TV in his house.= ¢
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Lecture 8
Adjectives- wlial)
are words which we use to describe people, things, events... etc.
el laall s e LaV (il Caia gl Lgaadins S e 3 )ke &

Adjectives can be divided into two groups - ¢sesd I acdii Ciliual)
a- Attributive Adjectives- <all) cliwa
Attributive adjectives appear before the noun.
e.g. This is an important lesson.
(pre-modifier -G Jame ) au¥) Jid o sSisale & 6l 3, au¥l Jd jelas o

This is an important lesson Jt
ol ) = aul = Lesson 5/ 4ia = Important ¢l JUially
Nominal group = 4l 3_le = an important lesson

b- Predicative Adjectives — 4 gil) 3aiuall ciliual)
Predicative adjectives appear after the noun, in the predicate.
e.g. This lesson is important. ‘
..Predicate 4 & au¥) 223 5L " Predicative Adjective™ -

This lesson is important AU Jéalb
This lesson = 4xen! 3 e /ol )il = aul =L esson

This lesson = aleall 238 & Jeldll 5 Predicate = sabua ¢8I 2cluall J=8ll 5 Lesson = Sels s important = 4sall

Many adjectives can be used both attributively and predicatively, e.g. the adjective

“important” in the two previous examples. A _
Allaad) ALY A LaS Bbene s of cand CiliaS aadiud o) ¢y cliual) (e aanl)

Some adjectives can only be used attributively.
e.g. main, principal, chief
Main , principal , chief - Jis au¥) 08 A ey |, i€ S8 andins ciliial) (any

Some other adjectives can only be used predicatively.
e.g. afraid, asleep
afraid, aslegp- Jis haié sl aay (A0 g |, Jakh SaiunaS a2 Lgudany g
. APAe Lghaadi | Bl AU AN ciliial) ¢ Aaadlatt
Adjectives used only predicatively tend to refer to a temporary condition rather than a
permanent characteristic.
el ) 488y (Kaa s yual 43ie )5 il = A8 50 Alla = temporary condition —a= 5! predicatively & il axiing

Gl g () Hedi) Bae e 25 e ) (e Ay 5k 353 = Al Alla cud s = permanent characteristic

Look at the following adjectives referring to health in the examples below:
Ay ALiaY) B daual) L) Bailad) AN cliuall ) il
e.g. 1. The old man is well today.
(W s i Sy ae (Y A0 Alls = o 5all) = "a sl " 5a daimy =The old man is well today Jie

aclus J=é = js 4xaul 3 e =The old man
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B () 5She (S 1Sy (S0 Jakd o sall B dliaia 8 aBse Alls 4 Ja ) s OY | 334 44 prediicative adjective = well
temporary condition = 45 s g8 13

In example 1, “well” is a predicative adjective that shows a temporary condition.

Compare example 1 to the next example, where the adjective “healthy” refers to a
permanent characteristic.

e.g. 2.He is a very healthy old man.

The old man is healthy.
v O3 (e Jysha i gl cuilsHealthy 4dual) |, Gbibad) cpllial) 3
o Yl ¢ yan) A Als = sl PLRATENE u_.a\.,d\ PLRATEN S = 3 Adsa Gl Ja )l = The old man is healthy
predicative adjective = i 48a Ua Oels 5 4a0l2 Ala =permanent characteristic= ¢2 13 (o}l (e iy s

G panl iy Alls = jualall 832 + el (8 3a ClS = s Ay (e ) 43l = He s a very healthy old man
Attributive Adjective = 4ix 48a Ua Cela 5 dails Al =permanent characteristic= ¢8 13 el (e &Ly gha o yidl

. k& predicative adjective = saius 4diall p0A05 | 4B 5a g0 juad 48llall CulS 13) 4Gl A 1)

Attributive Adjective = 4gixi 4iall aadiui i predicative adjective = siwe 4ba addiui Hads dala 5 4l sh Allal) culS 131

In a few cases the meaning of the adjectives changes according to its position in the

clause.
: JUa clause Haal) A Lgadga cua o adial) Jna gty c¥Al) G Jul81) 3

Ahmed was late. (Ahmed did not come on time= <l & AL saal)
predicative adjective= iiwa dda Lia Ay, Alia sl ) jgdally Al 4l =[ ate 4duall dina dlaal) oda b

The late Ahmed Al-Ali lived here. (Ahmed Al-Ali, who is now dead = daa) A giall) ‘
Attributive Adjective = 3aiua 4dua Ua a9, Ud Giledaa] Upaa A giall = ate 4duall aa ddaal) oda A L
=l = Ahmed

4l Alea = The late Ahmed Al-Ali
au¥l Jd sela LY Attributive Adjective < late

Exercise

Decide whether the underlined adjective can be used only attributively,
only predicatively or both.
a. only attributively b. only predicatively

1.He is a smart student. =c

2.The child is asleep.= b

3.0ne of the main causes of lung cancer is smoking.= a

4.Are you afraid of the dark?=Db

5.This runner is fast.= ¢
http://www.entsab.com/vb/showthread.php?t=81453



http://www.entsab.com/vb/showthread.php?t=81453
http://www.entsab.com/vb/showthread.php?t=81453

Adjective Phrases
Adjective Phrases - wiwa gll <l e
Adjective phrases are composed of ..
Oe 0588 Caa gl G e

1 an adjective= 4&<!l (which functions as the head of the phrase = 4laall (sl 2 5)

2 a modifier= J (mostly an adverb= «i_<x)
3 and a complement.= 4lasi

Aol gl Jlad) £ o Modifier Head Complement

Jadd 4dia Good

AL + Adia Good at Mathematics

"Jal Jaa 4 dda very Good

AaSi "I M+ Adia very Good at Mathematics

: Jdenall B

i s b be Lenand (K1 3o g AlS el aay Ll )l = 4da = Good  JsY) JLll

good at Mathematics &) JUll

ol aleSs la a5 s iya gt oY .. Proposition phrase — Jsss 5 sl 3_le= at Mathematics
o ) + 44a = Good

ol Gl Jana e 0 5SE Aiem 53 5ke = very good sl Jiall b

BT SY CANE Y

4ia 5 )le A= very good at Mathematics

oIl B Jase 5 s = very

oIl + 442 = good

oI 4L + Proposition phrase — sss s Jla 3 be= at Mathematics

Gradable adjectives- g ill 418l clial)
Gradable adjectives are adjectives that express a condition or quality of which there

are degrees.
e g2 ¢l sie / Cla o Ll dda A" clicall Cla pa4se 65 gl Alls a5 Cliea 4z Ll AL claal)

For example, “good” is a gradable adjective. There are degrees of “goodness”:

3 sall cla ja ellia oo yull A8 "aa" M

1. High Degree — (A& s giusa
e.g. very good

. \J;Jg;dﬁdﬁ;wgywdﬁé)ﬁ“Md}éiwslx}:civeryus

2. Excessive Degree- 4adlwll (¢ gica
e.g. too good

DSYY 4 sra = ca IS Al lsieY) =The final exam is difficult
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dall Jiiin s g G laa OIS el (laiaY) = The final exam is very difficult
atie da ol s OIS Al laieY) = The final exam is too difficult

3. Sufficient/ Insufficient Degree — (A & / A s gia
.e.g. good enough, not good enough

good enough = 4lS 3aa

" alia " A Ciim geS A a1 e Dl

4US 30a Gl = not good enough

" slhall e JB1 1 e sSa Cia ga " AJS s il (e

4. Comparative Degree- 4 @all ¢ giwa
e.g. better (comparative form of “good”), smarter (comparative form of “smart”), more
beautiful

A (o Juadl deal Qllall / o (it G 45 el " dda " (5 sl 138 aadiy
. ad Y Godder Jsi e 4 /. Good 4l (1o 45 il 4a = better
smart 4l (e 43 )ladll 44a = smarter

beautiful 4xlS (1« 43 ,laall 242 = More beautiful

5. Superlative Degree — dllial) s gima
e.g. best (superlative form of “good”), smartest (superlative form of “smart”), most

beautiful
Jaail) 8 ULY) e Juad) = Juadll 8 JuzdY) dead Clllall / oLl ¥ =(pind e ST 43181 " 4dia! (5 gl 138 a2diuy

000d 4xlS (1 Alaliall 442 = Best
smart 4lS (e dlaliall 46 = Smartest

most beautiful 4<lS (e Alslid) 46a = Beautiful

Some adjective like “complete” are not gradable. They are not normally compared, nor
modified by “very”, “too” or “enough”.

Very , Too, Jie c¥anadl ledaas o oS ¥ L Ll o (S Y (Sx "complete” Jie g ouill ALy () 688 cliall (any
enough

Adjectives referring to shape (e.g. round, tall) or size (big, narrow) can only modify

count nouns. They cannot modify mass nouns.
835300 ) elan¥) Jand () Sy V30 samall elansl) Jan o)) Sy (G / LaS) paal) 5 (o / Jash) JSG) Caat ) cliall

e.g. This is a big building. (INCORRECT: This is big water.)

e~ =big
wﬁg:gmw\:w:building
aibla dlas = 350e e = Jilu = ¢l = This is big water ¢!
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Function of Adjective Phrases

1) Complement of Subject +BE- s lwal) Jadl) 4+ Jolill dlagil)
e.g. Ahmed is very intelligent.

(e ST L Adld) aleal)

Jeld Ahmed =

(laadl 038 8 ol Jad dgia OF ool Alaall 038 8 4 5 (K1) aclise Jadls =
4ia 53 ke Very intelligent=

Jsti il dleall o2a BAKMEd s aleall (ine iyl aleSill i p )Y | S0 5

2)Complement of Direct Object

e.g. He found Ahmed very intelligent. (He found Ahmed to be very intelligent.)
bl JUal ‘_g

Jeli=He

J=8 =Found

il 4 Jsriet anl = Ahmed
laall 4y J gmiall d1aS3 + 4dia 5 3 ,le = Very intelligent
e daaf o Cali€] 4l 5 jie seal aa 5 43l He found Ahmed very intelligent .. s aleall Jisas
B () 2 83 IS s Jai€ Ban p 40 A USSR il (n i alead) e Y | Sty He found Ahmed J s ailed

3) Pre-Modifier in a Noun Phrase
e.g. My very good friend is coming to visit me.

s Gl JUl 8

e =My

4ia 3 be = very good
ol ) + ausl = friend

L ldly addia o3 e e (g giatasend 3 e = My very good friend kel

e @ sni @Y | aia s le = very good e_sall s jlall (K1 4sand s e " My very good friend" e Sl s jlall ey
dia 5

. friend ~¥) Ji Cels WY friend awY) Glae very good e ¢l 5 jlall

4) Post-Modifier in a Noun Phrase
e.g. We must find the person responsible for the robbery.

4l aleall
ol + 43aul 3 jie= the person

ol 3aY Jaxs + 482 = Responsible
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him _seall i s the person responsible for the robbery WS o jlall s s

We must find him

5) Head of a Nominal Group — 4wl 4s ganall (i

An adjective can be the head of a nominal group in the following special cases:
M1 " 4 Ul Aslal) YIS 8 dpen] de gaall Ml 1 1 sl (Sas dbiall

a- with a number of adjectives that refer to a class of people.

These adjectives include: blind, homeless, poor, wealthy, young, elderly, living, dead...

etc.
include: blind, homeless, poor, wealthy, young, elderly, living, dead... : Jis Sliall

ol e ddma 48 e gl adld) cliall

COsan Y Al Gl (e de sane Lo dai Aleall L s W acl = blind

"o il M Ol (e de senae Ly 2al Alaad) & laadius Ll Al J Y " 3 ke =homeless
"ol DRI Ll (e de sana Ly 2uali dlaall A laadii Wl 88 =poor

The following are examples of nominal groups with an adjective taking the place of the

head: A
Ada L el () 5 e Cile sama 20U ALY

We gave money to the poor.

(the class of people who are poor- s!4ill)

=43auY) aleall / The poor= ol + 4iall Poor

The wealthy must help poor people in our society.

(the class of people who are wealthy- L Y)
wealthy = Gl )l + 4dall / dleall 8 Jelll 4 "4l 4e sans " 4paul 3 e = The wealthy

The young are our hope for the future.
(the class of people who are young- ¢! Jliwa = i)
young = sl il + 4iall / The young = " 4ses) 4c sana " dgans¥l s Ll

b- A few adjectives referring to abstract ideas.
Guguna o 5 =83 a5 80 L) aa i cliual) (any
The unexpected happened.

The unknown is frightening. A
e dc senalll (Gl 0 oa i€l o3 5 ISE LY Lgasd @adaisi Y " unknown / unexpected "cpelSl Gl il
LAY B‘)L_ud\ L:ﬁ

ane Ll ela 5 dpans) de sanall Gl Lia 8 5 eI 5 5Ll Jalay el unexpected = 4iwall / Jeld = The unexpected
The

(The 2asall Ll el s daanl) de sanall (ul 5 Lia - (o8 5 4aenl) 3l & Cels unknown 4l / Jelé = The unknown-

c- Adjectives that refer to the people of a country. — Al (il (e Qaldl) ) 3 g2l ddea
The English are very polite. (the people of England)
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el de sandl Gl = English 4aall / a4+ iy a3 3101 (4 () 5S35 4pan) 42 ga0 + Jeld = The English
| ilas) 8 ) sy I Galail) = V) Caal a s

The French are very interested in fashion. (the people of France)
AsanY) e sanall l ) = French daaall / aul 4 iy 23 81l (e () 5K 4gand 42 gaae + Jelé = The French

L jh () samy ) Gl sV = G Hil) Caial 4 g

Exercise

Identify the function of each of the underlined adjective phrases
below. a. complement b. modifier in NP c. head of NP

1.The driver responsible for the accident paid the fine. =b
2.The driver was careless. =a

3.He is a careless driver. =b

4.The police found the driver guilty. =a

5.The elderly must be respected.= ¢
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Lecture 9

Adverbials (Adv)- <yl
An adverbial (abbreviated as Adv) can be a single-word adverb or an adverbial phrase.
4 passbe S b ol (Se Ady ¢ sty L Gl
An adverb is a word like “here”, “tomorrow” and “quickly” which we can use to say where,
when and how something happens.
Lo s ed s (S g e s Ol sl aadis il "quickly - tomorrow -here" Jis 4alS JWdI-

It can also express other meanings like frequency, degree... etc.
" 4aal - degree"+ " LIS Jas — frequency” Jis sl (Hlas st of Laad (s

An adverbial phrase is a group of words that does the same job as an adverb.
LA Jae i Jart (5 Jlall Adaia g (il Led ilalS Ao gana oo 148 BY B jlal)

Adverbials include:- Jadd g uall

1- Prepositional Phrases (PP)- sg !l 5 Jadi 5 e
e.g. We were waiting in the lobby. (adverbial of place)
in the lobby=pp= s, 3 s 3ke= () OSe £ cla Y (S Gy
AdAa=]In

Aaa g ol y (4 4 gSa 4aanl Aaa =NP = the lobby
O el ey O capbh Ay 5 me 5 )i ke =inthe lobby
2- Noun Phrases (NP)- 4saw) 3 juall

e.g. I will visit my uncle this afternoon. (adverbial of time)
"f‘ﬁ'“ e " e e ala L le ) (B Bela L 4 3 5lell = NP = this afternoon

3L aul & = this
Noun = afternoon

3- Clauses including: ¢» ¢85 Jaadl
a- Clauses with a Finite Verb (finite clauses) - (83aall @i jball) — £ sil) 138 soad 5 cdaaa Jad aa &l e
e.g. We need to leave before it is too late. (time)

2l - s &l - ) s & s finite verb -2asse Jaé = s

a0 dlan ruaid 2daa Jad Lgad Alaal) calS 1Y)
"ol ol M A pm dles gd — () e s before it is too late 3kl
b- Infinitive Clauses (non-finite clauses) — (333aa il 3 jlall) jdaal) 3 e
e.g. | am playing to win. (adverbial of purpose)
t( G 9< 3aaae il 3Ll = non-finite clauses 41 3 ke bl JEa) 8

Subject + helping verb+ verb(ing)+ Jxes

. Aadi el Cayla s a5 to + base form of the verb- To +d=éll (ke (58 Haadll = to win
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c- Present Participle Clauses (non-finite clauses)- (833 sl 3 jlall) Jelil) a3 )l
e.g. He ran down the road, breathing heavily. (manner)
el e il Gl el g jlaal) (e 3 Jeldl) sl 3 e = breathing heavily

Exercise
Identify the form of the underlined adverbials.
a. NP b. PP c. finite clause d. non-finite clause
1.He visited me in my house. =b
2.He is studying to pass the exam. =d
3.Ali has an exam this morning.= a
4.1 will give you my homework after it is done. =c
5.They walked together, smiling widely. =d

Adverbials (Adv)
Many adverbials are adjuncts; they provide additional information, are part of the structure
of the clause, but are optional. Adjuncts include adverbials of:
W lghia Sy 1 AL 4SS Alead) cuS 5 B AL 5 e (A g Al daslea = aal 5 gl () o (g8 g pual) (ary
A Cpacai gl g / (gl sl
. Place (position) 4sag) clsall ik -telling us where — ¢4 (e.g. in the hall, there)
. Place (destination)- (4433) olsell ik telling us where to -cxl Y (e.g. to the door)
. Time (When)-( ) a3l <k telling us when- (£« (e.g. at nine o’clock, today)
. Time (duration)- (s24) cla3ll ik telling us how long - #3 (e.g. for 10 days)
. Relative time — <& 5l &lxia ik telling us how long ago < s ¢ aa oS (e.g. just, still)
. Frequency -\_<3l <k telling us how often IS s siwa (e.g. always, rarely)
. Degree - 4a_all Gk telling us to what extent ¢ ¢l Y (e.g. almost, barely)
. Manner - «sll) Gk telling us in what way (e.g. carefully, with care)

1
2
3
4
5
6
7
8

Exercise
Choose the type of the underlined adverbials.
a. adverbial of frequency c. adverbial of degree
b. adverbial of manner d. adverbial of relative time
1.He always drinks tea in the morning. =a
2.The climbers barely made it to the top of the mountain .= c
3.He finished the exam quickly. =b
4.My friends just arrived from their trip. =d
5.They bravely climbed the mountain.= D

Note: Similar to gradable adjectives ( Lecture 8),
e some adverbs of manner can be gradable. We can give different degrees of the meaning
conveyed by a gradable adverb. The adverb of manner “carefully”, for example, is a gradable
adverb.
e.g. very carefully, more carefully, most carefully
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" gradable adjectives " (e 4l 5 jualaally Liasd ;ABaMe*

Do sl dla ¢ el (e Adliae il giosal Lea o of aadaies | Cila ) Led (585 slul1 Jadl ) 53l (oany
(4dlise il > 8 ddass o Sy = gradable adverb - da 3 caliae Jis) s carefully

42di j 4a )3 — High Degree = very carefully
Omadd (g 45 )laall 4a ;0 — Comparative Degree = more carefully
waldd) ¥ e Aluadi 4a 30 - Superlative Degree = most carefully

Some other adverbs of manner, e.g. “perfectly,” are not gradable.
Gla )y B leras (R Y perfectly /completely @ Jie b)) s g1 53l (any

Position of Adverbials- <! a8l sa

Adverbials can be found in three main positions:
at the end, at the beginning or in the middle of a clause. f
c Akl B gl (8 aglall s ) paal ge Y8 S0 Cag kil

1- Final Position — " &aall Ai " &gl b ga
It is very common for adverbials to appear at the end of a clause.
e.g. Thank you very much.

Thank you very much. Jtis dleall 43 & Cag pall b We

2- Initial Position- " Alaad) &l 4pla) a8 9
Some adjuncts, e.g. adverbials of place (position), time, and frequency can appear at the
beginning of a clause.
The purpose of this position is to focus attention on the location, time or frequency of events
and activities.
" Sl 138 (g i alls, M SISI" aleall Al Al 1SN -l 5 Sl oyl Jie ol sl /a5l sy
a5 Slaall S5 o i g ol adgall e oLtV 3l "leal)

For example:
| saw my dear friend Ahmed two days ago (focus on action)
Two days ago, | saw my dear friend Ahmed. (focus on time)
Two days ago 4 il o jLal) a8 ga LD g8 g Jasusy COBUA) pa dlaad) Gl || cplibead) cpllial) B
oalaal) e agdpeall s lall e st i G sl cuha

"aaal G yadl (sha Cul )" daal ol Cian e aadall <5 s JY1 JEA =

(N (Ao S ol Akl dglad) Al (e e 30 s 3 jle Ll ailil) alead) 8 Laiy
"Omes JB " el g @S ) Two days ago sokall L AdE) Caad Gl seal oldl iy ) oLy cund

there is a big celebration,_In Riyadh (focus on action)
In Riyadh, there is a big celebration. (focus on place)

"ol JEaYI" Goaa e addadl @3S s Y1 QL A
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OISl e S il oLy sl Al ) ALl e Gl Gala b e Ll 4l alead) 8 Lain
LISl g oS In Rivadh soball Sl JEs Y Gos e el " QY S L) s

"u.'dlﬁ‘)j‘ ‘; (1]

3- Middle Position- sl a8 s
Single-word adverbs of frequency, adverbs of relative time and adverbs of degree normally
appear in the middle of a clause.
ol g A dale AU, Axal Jla g gl haial) Jladl- ) Sl Jlad 4ga Al cilalst)
Their position is — (AGIS Lgadl g
- immediately after the operator in complex verbal groups (Lecture 5)
33t all Aidadl) Cile saadll i the operator -dalall a3 il

immediately after the full verb BE.
sl ) aebiall Jadll day 6 il

- and before any other simple verb. ] ‘
DA o J8 () J8
e.g. We have often talked together. (after the operator “have”)
have talked .. talked J=&ll 5 have Jalaall (pa (5 sST 8220 43l e gana (& Alaall 028
talked la) Jaéll U8 5 have delaall 2y ¢l often L) SH) Jls

We are still waiting. (after the operator “are”)
are still .. still Jzdll 5 are acluwall Jadll (e () ST Bains Alad 4o gana (& Aleall 232

waiting L) Jadll 3 5 are dalall 2ay ela 5 still <o 58 La JWal

We are very tired. (after the full verb “are”)
aleall o 3 "dla " LeSl dia Gl L " tired" dalS 5 are acbuall dedll | sa bl Jadll : dleall o2a b
. e G diia " tired" 4elS Uad 138 5 | Jad " tired" 4elS o5 SiE S

Oﬁdt;su_}yb_j‘;:}ub&‘)” \q\dﬁa@m@(gmsdgézoggw)__d@dw:dm:tiredus
LAk = cante i s (edll) Jla cual Y Jad ol B Y

a0 i JadY) 0Y %) + v Jad e ay Cilana e 13 Ing L (yshaad sl adalu UKy Y 5l Jad S 131 oSl
A3V Ja e gae 81 e i) Lgd o L Jiidll 5 jliadl) 5 bl

We still have some money. (before the full verb “have”) ‘
. Have dadll g sla g Still s Jadl 5. Have .. s eubad) Jadll : dlandl o2 b

We sometimes go to Jeddah. (before the full verb “go”) ‘
g0 .. ubud) Jadl) J Lo ..Sometime & Jadl 5. go A (eubead) Jadll ; Aland) oda b

Function of Adverbials —i &l ciila
Some of the functions of adverbials include: -l < pall Cailia g ¢pancats
1) Adjunct- (gl sll / a5
e sLRIuY) (Say ., daga s ALl Cilaglaa Ligdans Al dalSl) gf 380 of 59lSh) o, 3ol lll / gl gl
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e.g. | knew her very well.

.Jua Wb e = | knew her very well. .. 4&ludl dlaad)
..ﬁdwdq'ééﬁ@gd}d”\e):mhsﬁhﬁg&WJAL&J\JVery\Ne”: \Aﬂgusucgﬁa:wu)&
(o2 Ja3S) | knew her Ut g1 lgd 21 5 agall aga 5@ S8 ol s o) guu Lgd po |, Baal g dauiil) oSl

2) Complement of Subject +BE- i lwal) J2dl) 4 Jolill Alagil)
e.g. That’s all right.

: dalal) o34 3

That = dplé+bJL&\ ?‘““
Is= w\géwu\dd
All right= 3 luall Jadll ¢ Jolill dLasil) + Gy
,,MQY\\AU\MMYM@\ahgéw‘)l\&ﬂ\\gdcmﬁg\"&mm;h

3) 3. Direct Object — jdibuall 4y J sadall

e.g. They didn’t tell me why.

4) 4. Modifier- Jaal)

A& 3Mi= didn’t / Je =They

Jed=tell

Sl i) 4y J gl = jpada me

s by J g2da = g pd = Why.

Adverbs can modify nouns, adjectives, prepositions and adverbs.
DA 5. "all clds " Al Gy ga L claall ) sland) Joaes ai€ay Jlall

Phrase type
o_lad) £ o

Adverb as pre-

modifier
Gl 2aaas | Jad)

Phrasal yerb—
o laad) Ll

Y w\j\ &y
&mﬂ M‘
Joaadly cud
(s

Adverb as post-

modifier
daY Jaa d Jadl

Noun phrase

Nearby

Hotel

Noun phrase

Way

Ahead

Adjective phrase

Completely

New

Adjective phrase

Quick

Enough

Adverb phrase

Very

Often

Adverb phrase

Quickly

Enough

Preposition
phrase

directly

Through

AdA

Exercise : Identify the function of each of the underlined adverbials.
a. adjunct b. complement c. object d. modifier
1.Are you absolutely sure? = d
2.The child followed his father very closely.= a
3.He told him when to come.= ¢
4.The show ended very quickly.=d
5.1t was all right.= b
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Lecture 10

Basic Types of Clause Structure
In making up a one-clause sentence in English, we have a choice of five basic clause
structure types in which all the elements are necessary.

A5 e paling sl Alea Sl sl 0 Ll |4 ula¥) axdll 31 KM L aiial
These basic types can be expanded with other optional elements like adjuncts and
modifiers.

¥amall 5 Gal sl S gAY 4 LAY uabiall ae Lprs 53 o of (S Al #1531 038

Each of these five types follows the basic pattern:
Subject (NP) + Predicate (VP).
Subject (NP) + Predicate (VP) = (ssbu) Jaaill aiii dsadll &1 5391 o34 aran
OIS sl il o o M dlad o jlae + dzand B le M sa s S
Gl 4s Jsnia o) 2alSS ) 4ulad e sana ()5S (Sae= Predicate

In each type, the subject will normally come first and is the followed by a "verb
phrase™.

"Jaill 5 e axdly | Vsl g samsall gl sVl eia 4
Only the composition of the VP changes in each type.

Lo Y dell = deldll s jle (psSilaih g i L

The VP may contain the following elements:

A ealial) e (5 i3 () Sy Aladl) 5 5Lal)
1- Intransitive Verb (abbreviated as Vi) - ( aJ¥ Jad- Vi)= 4 Jgrda G50
2- Transitive Verb (abbreviated as Vt) — gxia Jad Vt f
\ Ditransitive 4l s\ Monotranstive g2 =

3- BE or another Copula — &l Jladl g 3asbuall Jdd)

& _is.am are were
" bl sl A Jsmial s ol 4y Jelall day i saclise JadY) & = Loy ) Lgan) (e o)l Jladl
Ja=here Jad=js Jeli=He
4- Complement (abbreviated as C), which includes: - C ijas W jlaii) aly 4lagil)
a- Noun Phrase (abbreviated as NP) - (Aasill g1 551 (10 £ 85) = NP daans) 5l
b- Adjective Phrase (abbreviated as Adj)- Adj 4w 5 s
c- Adverbial (abbreviated as Adv)- Adv iy 5 s

5- Direct Object (abbreviated as dO) - (dO-_<ileall J g2iall)

6- Indirect Object (abbreviated as iO) — (i0- s&la il J g2iall)
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The following table shows the five basic types of clause structure in English:

Structure of VP

Examples

Vi
a

b.C(Ald )

ao¥ Jad + Jeld = 5. We waited.

Jasa ddduiag g pa + 2 )Y J2é + Jeld = b, We sat down.

BE+C
a. NP

b. Adj

c. Adv

aleSa)dsanl 3 letaclus J2é + Jeld =3, He was my friend.
(Jnill, Jelil

Jelill aleSa) asantacbie J28 + Jeld =p, He was intelligent.
(S8l

Jelall aleSh) ja 3 5bie+aclus J2é + Jeld =c. He was in my class.

(D=l

Vt+dO +
a.
b. C (Adv)

ila 4 A galat saxia (28 + Jeld =3, | made a mistake.

Jgrdat gaeio stk Jeli=), | put the key in the lock.
2 b le + pdla

Vt +i0 +dO
a. (to)

b. (for)

+dle pe Jsale + el Jd+clé=5 | ggve him an answer.
s J ks

Dile e Jgrde + (grda Jad + Jeli=h. He made me a suit.
il Jgpdat

Vt +dO +C
a. NP

8obe + pilaal gadla + (g0eio (Jed+ Jeli=3, | found him a bore.
(AlaSS) A rans!

8ok + bl gl + (g0eio (Jed+ Jeld =]y, | found him boring.

b. Adj (Ales) »

A salal) axdll 8 I diadd) oLl £ sl eaa g U J sandl

< As we mentioned at the beginning of the lecture, each of these t
ypes can be expanded with optional elements like adjunct and modifiers.
Vsl 5wl il e A HLal yualic o) 5 Lgie 58 Sy ) 531 038 (e & 53 US| B ualaall dglay & L LS

For example,
we can expand the first sentence in Type 1 as follows:
(Y g sl 8 Y Aleal) des 55 adatis

We waited. (Type 1)- we waited = J ¥ ¢ 5
We waited in the car. (Type 1 + Adjunct) _
. Aage Cangl AlaY) o3 (K1 || adlialy Alaall G gi o3 = i+ J5Y¥) g 53l = We waited in the car

Simple sentences have only one clause. They can be expanded even more by combining
them with other clauses as we will see when we discuss compound and complex
sentences.
s odae Jan 065 Q5 Al Gl Leday n deal) ma i Ky, Ladh aal g 558 =3 ke o (5 giad Adanad) dleal)
A8 e
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#Be careful not to confuse these five types of basic clause structure with the five types
of complex verbal groups that we discussed in Lecture 5.
saiaal) dladl) e ganall JAsad) o) WL L sl 3 5ISI 0 ST diadd) ) ) 028 aSile LaliAS () (e | gl

For example

the verb “tell” can fit into basic type 3, as seen in the first example below; and it can
also fit into basic type 4, as seen in the second example below.

1A JENS ol 5l a5l oy Ll (S | 51 Ul Jas s L i, ) sl 5l anly el Jadl

e.g. 1. He told the truth. (Type 3)
Jsriall galal saria Jai€ " told" Jadll ela || U g il =He told the truth

e Jg2éa = the truth / g2 J=8 = told / Jeld = He

e.g. 2. He told me the truth. (Type 4)
. gaia JasS " told" dadll els | &l )l £ 5l =He told me the truth

e Js2ie = the truth / 2w e Jg2de = Me [ 22 a8 = told / Jeld = He

On the other hand, the verb “explain” can only fit into basic type 3, but not basic type4.
rlie N ¥ e i) iy Lo oS0 AN b g sl anliexplain” Jadll La

For example:
e.g. 1. He explained the answer. (Type 3)
.. &l & il = He explained the answer

il J 928 = the answer / i J=d = explained / Jelé = He

e.g. 2. INCORRECT: He explained me the answer. (Type 4 is not
possible with the verb “explain”) ‘
ile s pile Gl grde L 055 adia Le LY L )l g sill) Ll pasiis adila

Variations of Basic Clause Structure Types - daall &bl sl £1 65y el il
Common Variations of Basic Clause Structure Types

1- In type 1, “there” can be used as an introductory subject.
S+Vi = @““L‘”w daall S 5 delsS PRE LS J5Y) &}\5\ ‘éjthere A<

e.g.
Three exceptions exist. (Type 1)
"o Jsde ZUsy Y " gamie e Jad= Exist / Jeld = Three exceptions
There are three exceptions. (Variation of type 1 using introductory “there”)
The pattern in this example is: There +BE + Subject

);\:m \AE.:.A = three exceptions [ 2eliw J=d = are / 93334“ \i\-‘ﬂ = There
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There +BE + Subject : Jiall 131 " & il " ol

2- “There” can also be used as an introductory subject in a variation of type 2.
Sl & sl 8 A Jeld" aaiia ofuineS Liayl aadiud o (Say There 4alS

e.g.
Some books are on the shelf. (Type 2)

La e 25" H5me 5o " Jia = on the shelf / xlus Jad = gre / Jelé=Some books
(S+BE+C): g5l 13 ol
There are some books on the shelf. (Variation of type 2 using introductory “there”)
alis 1= some books / xclus J28 = gre / "adiie Jeli" adiis lxine = There
L aleSa 29" )5 me gola " Jis = on the shelf

3- Type 2¢, can be reversed when the adverb is “here’ or “there”.
theres here .. Jadl g8 13 "Jad) dae Jeldl™ 5 "deldll dae Jadl "daasi (S

e.g.
Mohammed is here. (Type 2c¢)
Here is Mohammed. (Variation of type 2c)

. AeSe a5 s = here [ acluws Jad =js /" Jeléd " lxie =Mohammed

VLSS S Js 050 of (e 3 S+ BE+C S sa Lia e glt sl

There are other variations that we will not discuss here.

alis iy = Mohammed / aelus J28 =js [ aaiis lxine =Here
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Lecture 11

In the previous lecture, we discussed the five basic types of clause structure.
Each part of the structure of a clause can be duplicated (doubled) or added to by

Coordination.
Alaad) 3 jlall ol disadll L) o) V) LuiBl A6l 5 jualaall &

Alie aall ¢ oKl Calioaa s s "daa" 5SSl (pe Alaadl el o) 3ol (e e 3a S

For example, the subject is duplicated in the following sentence:

Al aleall & Caeline Jelill ;D
Mohammed and | are good friends.
The two parts of the subject in the previous sentence are joined by the conjunction

“and”.
"and” By sl Ja o pe 5 ieline Jeldll | i) JUA) b
d)—“)s*‘ dﬁm.a\ L'\i 5 daaa
(1 -Mohammed) ki ¢yl ja Lk, | JUa) 128 &

Conjunctions are words like “and,” “or,” and “but” which we use to connect

grammatical units/elements in a sentence.
Alaall yualic Jay yl aadins "gnd, but, or" «aball Cagsa

If we combine more than two parts, we usually separate the parts by commas, using the
conjunction to join the last two parts only.

Ly ) "Cakaall o a oy lal aadii s ) Leadamy (e ol 3aY) daadl | " ALGlM andig dlaall 8l e e ST Ly ) 13
IS ENEN

AAMMLJJ&JFL@.L;.\).\"LS&" a‘)gay\uag‘)aj\_gd...a}b; L@JSGX_S‘Y\ ;ﬁ\d@&ﬂ\@a\mhm uLS\A\@:u
"Lge 5 agd AllA ¢ daaa " Ja8 lemand () & s Mse agd AlA

Mohammed, Khaled, Fahad and Moayad

e.g. Mohammed, Ahmed and I are good friends. : -
(and) s 5 calae cayan ol a AT Ul 5, abialdy ol a Jgl o Liliad

Types of conjunctions: - cikall diga £ il

1- Coordinating Conjunctions (coordinators)- :ciuial; ey (4umdill) diudall cilall g
These are single-word conjunction, including: “and,” “but” and “or.”
"and" , "but ", "or" Jadis .. 32 jde by IS b
e.g. | want Ahmed and Saleh to come see me. — 5} elels mlla 5 2anl a2l L
e.g. | want Ahmed or Saleh to come see me. s )} sla wlba sl sl (e 2 )i Ul
e.g. | want Ahmed but not Saleh to come see me. 250! b o wlla Gl (81 aeal e ) U
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2- Correlative Coordinating Conjunctions - éae;MiweJl bulg Jl .
These are pairs of words, including: “both... and...,” “either... or...,” neither...
nor...,” “not only... but also...”

 Jadily | A5 IS L Tl 5l o3
“both... and...,” “either... or...,” neither... nor...,” “not only... but also...”

e.g. | want both Ahmed and Saleh to come see me.
sy A elela mlla 52l Sy, =Both...and =8 ...
e.g. | want either Ahmed or Saleh to come see me.
= syl S o Zla o seal L) 3y ) =either... or= 5l ...l
e.g. I want neither Ahmed nor Saleh to come see me.
s S o glba Y5 2eal ¥ 3 )1 ¥ = peither... nor...,
e.g. I want not only Ahmed but also Saleh to come see me.
3 o of e Laail (815 sl dasd ud 3y 5l =not only... but also...= L (815 dasd il

3- Subordinating Conjunctions (subordinators)

4- Correlative Subordinating Conjunctions

We will talk more about the last two types when we discuss Subordination in Lectures
12 and 13.

VY5 Y )l palaall A Lgde duaadia
Exercise : Choose the type of conjunction in the sentences below:
a. Coordinating Conjunction b. Correlative Coordinating Conjunction
1.My brother and sister went to Dammam.= a
2.They are both polite and friendly.=b
3.1 not only like swimming but also diving=Db.
4.1 like swimming but not diving.=a

We can compound/coordinate any level of constituents (grammatical units) - words,
phrases and clauses.

s dea g & jlaall 5 RN (g (5 sia (g1 day i a8
e Coordination of Words — <lalsl) g
Coordination can link two or more words of the same word class as in the following
examples:

Al BN 2l b e S0 ) el ey 5 ciliaiall
Nouns:- aew
e.g. Football and basketball are my favorite sports.

~) = basketball / ~! = football

(and) " L " Calaall o GpanY) Uiy

Adjectives:- 4da
e.g. My friend Khaled is funny and intelligent.
44a = intelligent / 44= = funny
(and)" ) " Calaall Ca ey itall Uiy
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Adverbs:- Ja

e.g. We must finish our work both quickly and efficiently.
Js = efficiently / J~ =quickly

.(both - and) a3 by s Jad) iy
e Coordination of Phrases — < ) (gawil

Two or more phrases of the same type can also be linked together through coordination
as in the following examples:

Al 4B 8 LS e aladiuly g sill uds e ST ) i lae day ) LSy
Noun Phrases- 4saw) o s
e.g. The old man and the young boy crossed the street.

Y 4l s ke = The old man

sokall ul ) = Man / Gl Gils Jaxe = old / sl Y s Jaxe = The

4..\4\..:]\ BJ\.:\:.]\.:! UJ;}“ a)\.:u.l\ L"_\ng L.}J Bal = And

Y 4l o _e = the young boy

ol = boy / Giws Jaee = young [ Gl Jaxe = The

Verb Phrases:- 4xlzé o jLs
e.g. Many of the grammatical terms must be studied and will come in the exam.

) 4aled o Jle = must be studied

Js¥l g sl = Type 1 = Jaas + J3se = Modal +Infinitive = must be
Infinitive = be / Modal = must

&l g sl =Type 4 = Jeldll au) + 2ol J=8 = BE +Past Participle =be studied
Past Participle = studied / BE = be

4:\4\_:3\ EJL.udLj L;JS“ bJL}’j\ ng) L.j‘) Bl = And

v alaé 3 ke = Will come in the exam.

Js¥ g sll = Type 1 = Jaadll +J25e = Modal +Infinitive = will come

come = Infinitive / Modal = will

Adjective phrases:- 4ia s jls
e.g. The topics are very interesting and really useful.

V i 5 e = very interesting
44a= Interesting / ddall Gilu Jae = Js = very

4lil) 3 jlally J ) ddiall o jlall Ciday ; day ;314 = And
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Y diay 3 e = really useful

dia = yseful / Al Gle Jae = Js = really

Adverbials:- J 3 s
e.g. You can wash your clothes by hand or in the washing machine.

' J= - =by hand

@\ijczy\:hand | ~<a=bhy

Al B jlally AV o jlal) by, Jay 301 = or

Y Jis o_le = in the washing machine

A A =in

4aul 3 ke = the washing machine

ol =Machine / 4ia G Jaze =Washing / @i Jase =the

e Compound Sentences- 4 sall Jaal
Coordination of Clauses — Jeal) (gawl

A compound sentence has two or more clauses which are linked by a coordinator.
oy 5ol Al 50 agday ) aly g 5IS (iilea Led AS jall dlanl)

All of the clauses in compound sentences are coordinate. In other words, they are of
equal rank. None of them are dependent on (part of) another clause. They are all
independent clauses. ‘
aloa (e e a (gl o aaiadY Ll (o Aliise ™ IS0 " Guilaadl SIS ey 5 ol M ada g ge L 48 el Jead) (B 51N Jes aes
A

The following are examples of compound sentences:
e.g. 1.( Everyone was in the room) and (the doors had been closed.)
(and) = J:,\J B\Ji_) u.ula;“ UL.})

e.g. 2. (Everyone was in the room), (the doors had been closed)( and latecomers had to

wait outside.)
(and) = Lo sl 0N 5 Al Alaall Wlay s . (¢ ) At dlead) e Y aleall Liliad

Alalally aladinsd || dal 5l e ) S5 ales g alea JS w piidbe And ... oS bl U (Y L 4l 3 (I8 aleall o aliald Lidas
e.g. 3. (Some students didn’t do the homework) and( the teacher knew), but (he didn’t
say anything.)

< (4) Wy (but) = Loy slaly A 5 45 aleadl Gy 5 . (and) = day 3ok 4l 5 Y1 dleal) Uy
¢ pSall ol alald s Byt o Ll Lo " Leld alald" Lidas g Byt Lubaa (i cuha

Linia g oo 138 5 Bailise dlas (ol zlinile g laoa o 3l (Sae alaa IS iy ™ (piliine Gilea 4B 5 460 cpilead) (Y- )
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alaall a4 oY+ e ge Jay) )l ey calite 4lill 5 3500 aleall 8 Jag )l oY Alalally W) axe 5 But ) Uaa s Cans -
st Ji o A1 Gopay alaad) ) L 4l aleadl e (il L 43I

e.g. 4. Either (he didn’t bring the book ), or (someone took it from him.)
") " adlaial L + Gl cpilead) OIY Or J8 dlald Ly | Alialds 48 gae (0r) = a3l Al 0¥ daad) Uy
Csh Wl gl aal

e.g. 5. (I’m selling my car) and( (I’m) buying a new one.)

(and)= Lary 3lals Cpilaall Liday
e.g. 6.( Mohammed is going on a trip for a few days), (but (he) will be back before

Saturday.)
. (but) = L shals Cpileal) Ly

e.g. 7. (He may have received the letter) but ((he may have) forgotten to reply.)
. (but) = L shals Cpileal) ey

As seen in examples 5, 6 and 7, when the subjects of the two clauses refer to the same
person or thing, the second subject can be deleted. We can also delete the second verbal

group if it is the same.
AN Alaall e adda (e cileal) 8 padil) el Jadll / Jeldl) 2 gry Ladie V0 4L 5 5 LS

Exercise
Decide whether the following sentences are:
a. simple sentences b. compound sentences

1.My neighbor and his family are going on a trip.=a

2.My neighbor is going on a trip but his family are not going with him.=b
3.Either I lost my wallet or someone stole it.=b

4.The wallet was either lost or stolen.=a

Exercise
Decide whether the subject in the second clause is:
a. Optional (can be deleted) b. Obligatory (cannot be deleted)

1.My neighbor is going on a trip and his family are going with him too.=b
2.My neighbor is going on a trip and he will take his family with him.=a
3.Sara will study hard for the exam, and she will try to get high grades.=a
4.Sara will study hard for the exam, and Maha will do the same.=b
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Lecture 12

Subordination- (Aiiuwa ) 4680 Jaad)

In Lecture 1 we said that sentences can be divided into simple, compound and complex
sentences. We discussed simple sentences in detail in previous lectures, especially Lecture
10, and compound sentences in Lecture 11. In this lecture, we will discuss complex

sentences.
5 ()0 o_palaall) A3l cul jualadlly ddagel Jaadl Lddlip | ((3dina A4S yo ddagen | den ) () anai Jeadl () (Y1 5 jualadl) 8 LG
il Jaall (il 5 jualaall 33 g (V) o pualaall) S yall Jeall

A complex sentence- 48 a1l Jaadl
has two or more clauses joined by a subordinating conjunction. At least one of the clauses is

subordinate to a main clause. |
(liaiall) Ty )l Cig ym adansd g3 Aa gy pa . STl (55S) ilen e g sins

A main clause- (Aiuall) Az 3 dlagd
(also known as an independent clause) is a clause that can stand alone as a complete

sentence.
Jaa ol zla3 Vs |, adalS adaasS Waa ol Al o) aodalioad (o . Al Lgan) (g dlaa (A 5 (Aliiisall IS0 = aliiosall aleall) Liagl anss

. L i 5 A

A subordinate clause- 4iiuwa pal) dleal)
(also known as a dependent clause) is a clause that cannot stand alone as a complete

sentence.
A alas ) 2las s alelS aleaS Was o) 5 o adaid W ales o 5 (Altie el IS = alitall el aleall) Loadl s

A clause can be subordinate by being able to do one of the following:
S Jany (adiin ye = saibise= 435l8) ()5S of alaall oSy

1- replace an NP in the main clause- (4sxbwl) Adiivall dlaaldl A8 dracd) o jlaad) Jlagial

e.g. Everyone could see it.

Everyone could see (that) he was frightened.

The subordinate clause “that he was frightened” is a noun clause. It functions as the object of
the verb “see”.

Everyone could see it
W&d}@w\ajm@}MMmu\w\

see dxill b Jgzda a9 yaaa =it [/ =il = see
(that) he was frightened — olilagiuld (s 65 IS0 jt pesall Jai | (Aliie pe = 43 8 = Bailie) alas () 6S5 (i

5 s (Everyone could see 4w o jball) o adiad alitus ye 43585 4laa = 4 : (that) he was frightened
see Jxill 43 Jsrie & L Wi s Wil gl |t peuall ddpias
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2- modify an NP in the main clause- (Aiiwall) sl ddaad) 3 Asacd) o jlad) Sy

e.g.
| often see my old school friends.

| often see friends who were at school with me.

The subordinate clause “who were at school with me” 1s called a relative clause. It functions

as a modifier of the NP “friends”.
| often see my old school friends.
.. 4xanl o jle 2 my old school friends s_bal)
. my old school friends 43 Ll (il ) =head = friends
Gl Jare = aul Jamy aud=school / (b Jae = 4da =0ld /| Bbe Jae = jea = My
. " friends" d.u\)ﬂ gyl Y are LKl 52 e o)
friends oV W Jaa3 ( subordinate clause =4liiue e IS alany) leasan C¥anall 028 Jlaiind gabiins
Az Hl) o jlaall Jaad 5 4IS iy ) su= "who were at school with me" J&ius e 5618 o “my old school" 4! o jlall Llasiula

.main clause = 4l dea = (I often see friends)

Jaxd 5 Apul) aleall 4y i L aliiee il alaadl s subordinate clause= 4liiwe ye 4= 34IS = (who were at school with me)
"friends” sl

M friends” Gal dhans Ll 5 aliaial Aleally an " who were at school with me"a Gl dlaall

3- replace an adverbial in the main clause- 4sewl! o jlall A (i pall) Jad) ot

e.g.
| met Ahmed twenty years ago.

I met Ahmed when | was at school.

The subordinate clause “when I was at school” 1s an adverbial clause of time. It functions as

an adjunct in the main clause “I met Ahmed.”
I met Ahmed twenty years ago.
oLl ks = twenty years ago

s adverbial clause of time. 4w s "(when | was at school) ¢ 56 55" .. "twenty years ago Ol < i "Jlatiu) sk
Ledda (S ¢ LA ed AN aal (Al (e dgdlial e slae Lighani " adjunct "

A subordinate clause is usually introduced by one of the following:
s AUl LY aal Bale Ll 4y gilil) Alagl)
1. a subordinating conjunction- :4 sl Calasll (a5
when or that :Jis
2. a relative pronoun- Jea il s
who, which, whose : Jis

Compare:
1. a. He was frightened. (Independent Clause = 4t 4las)
s o) ngsﬁjmgiuj\ Zlss Y
1. b. that he was frightened (Subordinate/Dependent Clause= that)—~ < g3y dliiue e alea
Al Ales el Ll alen ) lin

2. a. | was at school. (Independent Clause=4liivws 4les)
Was 5l 13 o) ety alea ol M glins Y
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2. b. when I was at school (Subordinate/Dependent Clause= When < g3y aliiie e alas)
Al Alen praatl Al 3538 ) oliag

Examples “1.a” and “2.a” are independent clauses. They are . complete sentences by
themselves

not Examples “1.b” and “2.b” are subordinate clauses. They are be added to . A main clause
must complete sentences on their own*“1.b” and “2.b” if we want to make a complete
sentence from them

Exercise : (p

Decide whether the underlined clause is:

1- It was obvious to everyone that he wanted to leave
a. dependent b. independent

2- He wanted to leave and this was obvious to everyone
a. dependent b. independent

3- My friends came to visit me when | was in Dammam
a. dependent b. independent

4- My friends came to visit me, but | was in Dammam
a. dependent b. independent

Subordination:-Aiiee il Jaal)

Types of Subordinate Clauses.. &5 Jaal g1 il

1- Noun Clauses_ 4! alaall

2- Relative Clauses —Jwa sl ilea

3- Adverbial Clauses-(da) 4 jall alaall

4- other- s (conditional clause-4sa &l Jeall / result Clause — 4aiill 4laa / purpose clause 4les
dpa 2

» We will take a look at each of these types in the following sections starting with noun

clauses
s aleally oy JUI ¢ 5all 8 e ) sV 038 paen (5 yim

Noun Clauses

We can divide noun clauses into that-clauses and wh-clauses.

A that-clause begins with “that” and a wh-clause begins with a wh-question word, e.g. what,
who

(that-clauses = that = 123 3 Jeall / wh-clauses =Wh. = 1a 3l Jaall)aand ) sl Jaad) i li€ay
byl op Sl = (What where who) Jie LSy alaall ias wh-clauses =Wh.= 1 ) Jaall
That 4. sale 4laall a5 =that-clauses = that fag il Jeal
A. That-clauses - that 4la>

A that-clause can have four of the functions of the NP. It can be:
NP 4saul o jlanll Cailia s (po ailin s day i 330 That dlea
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1) Subject of a Verb in another clause — s _Aj 4las A Jadll Jolb
That the driver could not control his car is obvious.
(=1t is obvious.)

. W‘X\ b)L.ud\ .. (_9-’@\ JLLAM cﬁ

O @33 Y Jeli It o sSins . It is obvious ="It" sesall G ledaw oy aSll g Jeli = the driver could not control his car
" the driver could not control his car" s» I Jeldll

i< = obvious /| Jxd = is

Note: “That” is obligatory in this sentence. We cannot delete it.
ledda (Ko Y dlaall o2a 8" obligatory— 42 ksl That 4alS

2) Object of a Verb in another clause — : g Al das b J2dll 4 J pria
e.g. Everyone could see (that) he was frightened.
(=Everyone could see it.)

Jxé=see / dJisw=could / J=l&=Everyone
Everyone could see it = it el dllaivl (Sayg ., see Jaill 43 Js2éa = (that) he was frightened

Ol < (that) he was frightened 4xeu¥) alaall IS @3l LY" | see Jxill 43 Jg2da ™ Everyone could see it" dlaall b jt daiS
"Layl Lgitaa ¢ 24l

Note: “That” is optional in this sentence. We can delete it.
leiia LiSay el 4y ) Cad g Aleall 3 3 UEA) La That 4alS

3) Complement of Subject +BE —Be Jad + Jelill Alass
e.g. The truth is (that) he was very shy.
(= The truth is this.)

The truth is (that) he was very shy /Jt«

xbua Jad =js / Jeld = The truth

cadeall aa JaSi o 3Y | ES o( 48iall= The truth is) Js& o) aebaied ¥ | aeluddl Jadll 5 Jeldll 25 = (that) he was very shy
The truth is this =(this) 3_LEY) auly Ua aleSill Joasd apdaias

Note: “That” is optional in this sentence. We can delete it.
Ledia LiSay U 4y jlial Can s Alaall 8 &y A0 La that &S

4) Apposition (to nouns like “fact”, “truth”, “explanation”) — as¥) (e Jaul

e.g. The fact that he was shy surprised me.

“That he was shy” is an appositive noun clause that refers to the same thing as the NP “the
fact”. We say that the noun clause is in apposition to the NP.

sl daes) 3 e = NP = The fact
Ju = AT 4aeul s = Noun Clause = that he was shy

055 agin Juadi 4alS (g of Jayy @l ol (90 Gy s AU Ginand | 08I s jle 5 35S 6 5K o jle ) o e ol ; Adaadle
-J 4l alea)
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el sl il i e oIS Cpileal) S 13 Cags SSED 5 agin Juald (gl (50 Lpiany A e Giilaa AU ) g8 Jad) oY
.The fact 4xeu¥) 5 jl2ll Ja  that he was shy .00 cixall Gats Jasd LS i) piileal)

Note: “That” can sometimes be deleted in this case.
LA o3 8 Cada that dalS Lal

Reported Speech:- J siiall a3\l
can be either direct or indirect. ,ile e 58 (S il )5S (San J 581l 2SN

a) Direct speech- sibsal) J siial) aBsl)
IS quoting the actual words spoken by someone. In this case, we write the quoted sentence

between quotation marks (“ ).
Caadle gy 4l siall Aleal) (€| Alall 38 b (s sl Caalls (el 8l cilalS b i in) Gl L hoad i) 4l il Jis s
wmy\ (u u)
¢.g. The man says, “The road is closed.” (direct speech using quotation marks)
ool Y1 Liaadias | Capally Ja 1 wUS (s L) LY () = 58l J 58 23S = The man says, “The road is closed” :Jle

b) Indirect speech- st il J siial) aDS)

Is restating the words spoken by someone. We can use a “that-clause” to report indirect
speech.

The man says (that) the road is closed. (indirect speech using a that-clause

5 oS e Wae WY Q@Y1 Adle aiios L Jgiial b)) e gl 130 3 Gl L glill Gl Ly it 2 il deln g
ke al) KN J85 cay 8 That-clause padiud A

The man says (that) the road is closed. (indirect speech using a that-clause
that AalS Leadiul GllN L jlay S ¢ Ulhae = Hil e J58 38 = The man says (that) the road is closed : Jis

B. Wh-clauses- Wh = 14 (Al Jaall
A wh-clause can have four of the functions of an NP. It can be:
NP “4eus¥) o jlaall Ciilia g (o, Biliag £ o @ Wh dea

1- Subject of another clause- ;45 dlaad Jolé
e.g. What caused the accident is a complete mystery.
(= Itis a complete mystery.)

Gl JAA) =
It is a complete mystery ="It" sl Alains 85 + | Jeld = What caused the accident
Ldad = s

2- Object of a verb in another clause- s Al dlaa 3 Jadll J s2da
No one knows what caused the accident.
(= No one knows it.)

No one knows what caused the accident /Jtis
J=d = Knows / Jelé =No one
No one knows it = it_realls Lo 38 5 knows J=dll 40 J seia Lia Lt 5 + 42aul o jlie = what caused the accident
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3- Complement of Subject +BE- ssbua J2é + jaisall o) Jolill dAlags
The question is what caused the accident.
(=The question is this.)

bl JU) =
xclue J2é = js / Jeli = The question

(this) 3 LY auls Ledaiins i ¢ selual) Jadl) 5 1isall 4L + 4peu) s jie = what caused the accident

4- Object of a preposition- ¥ di sl 4 Jgria
This depends on what you want.
(=This depends on it.)

Gl JGl 8
"eld aa oY ASY " aleall o3 8 Jeld a5 s L) anl = This

< a=o0n / Jx=depends

This depends on it = it Adaiud a8 5 on Jall sl 4 J s2ée + 4enl) 5 e = What you want

Exercise

What is the function of the underlined clause?
1.that no one could do itl. The fact is

a. subject b. object c. complement d. appositive

2.was important for science.What he discovered
a. subject b. object c. complement d. appositive

3.disappointed me. that no one could do it3. The fact
a. subject b. object c. complement d. appositive

4.that he made a great discovery4. Everyone knows
a. subject b. object c. complement d. appositive

5.what the manager has to say5. The workers rely on
a. subject b. object c. complement d. appositive
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Lecture 13

In Lecture 12, we discussed subordination and the types of subordinate clauses. We talked in
detail about the first type of subordinate clauses: noun clauses. In this lecture, we will cover
other types of subordinate clauses in more detail.
O st 3 palaall ol iy L dand) alaadl 4y 5l Jeall J5¥) g i) (e Uiandy | 4y 98 Jaall g1 e Wans VY 3 paladll
A alaall 5 AY) g )

Relative Clauses:-J«asl) 4laa gl 4luaial) Alaal)
A relative clause is a clause which mainly modifies a noun phrase. It usually begins with a

29 ¢e

relative pronoun: “who”, “whom”, “whose”, “which” and “that.”
J5 " who, whom, whose, which, that .."die deasll yilacas sale Jas 5 daan) 3 jlall culal JSG Jaad ) Jeal) 8 Juagll alaa
4 ald aladiu el o3

e.g. 1. The car which he owns is very old
(The car is very old. He owns the car.)
In example 1, the relative pronoun “which” is the object of the verb “owns”.
1 Gl JE u&
el s car Jeldll Alies Wil ik 5 5 which s 4eall 038 8 Jea )l jran 5 ia s 5 jle e 5i 4535 dea = which he owns
. owns J2ill J 28 which

Sometimes the relative pronoun can be deleted (zero relative pronoun), but it still exists as a
grammatical position in the clause.

e.g. 2. The car he owns is very old.

in example 2, the zero relative pronoun is the object of the verb “owns”.

Alaall & Juay (5 i) 4ain 50 (K15, "zerO0 relative pronoun’s el 13 ey L Ul Jea )l jraa Cada (S

e.g. 2. The car he owns is very old.

s bl JEal) 8
" Jadll 4 Jsrie s Ua dadll jiea 5 "zero relative pronoun” es dadll s 5 dias o jlie e 5456 ddes 4 = he owns
"owns

The relative pronoun points back to the head of the noun phrase modified by the relative
clause. The head of the NP is called the antecedent of the relative pronoun.

(3w -antecedent) A cass doasll yraa 4l a3 4an¥) 3 5lall Gl ) 5 i o)) Aleasy 4pan¥) 3 jladl Gl )V sady dha ) jpaia
Jasll el

"who" .. Jeasll jeca 4l il o) "aaiiall " ) s ;" antecedent ") sale o)

e.g. The man who called us yesterday has come to meet you.
(the pronoun “who” points back to the head of the NP “man”. “Man” in this sentence is

called an antecedent.) " .
alaadl ol 3 Jeld a5 4wl 3 ke = The man

who Jia sl jeal antecedent - pafie (w5 98 5 The man 4ewY) 3 bl il ) = man

.man Jeldll daxa o4 5 4senl Aea = who called us yesterday
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.man ol A ads who oY " man" s adidl 4ul ) s Jas s = who

The Use of Relative Pronouns:- 4ssdll jilaal) Cilaladia
a- Personal Relative Pronouns -duaiil) e jiladl)

The personal relative pronouns “who” and “whom” are used with human antecedents.
.human antecedents =lw¥! ) el ) 48lull jualiall g 2233505 5 (Whom - who) die 4padd 4pui jilea o4

e.g. 1. There is a man outside who wants to see you.
man e 252 = who

Ol A s 3ils yaic " antecedents = Cuawadil" = man
QS Giilea Al dleall Jaads s

There is a man outside. The man wants to see you

e.g. 2. Ahmed, who/whom | told you about yesterday, is here. (.)
o QY] 5 48l jaalie oa g 2eal 3525 = who/whom
v SIS plen ) dleall oda Juaii i

Ahmed is here. | told you about Ahmed yesterday

deligla ) dlall 8 Ahmed

4 Jsrie sla 4l Al & Ahmed

b- Non-Personal Relative Pronouns gaid sl sl jsel)
The non-personal relative pronoun “which” is used to talk about animals, objects, places,

ideas... etc.
J1_<.§‘>{\) cQSLAy\J ‘g\,}»ﬁ:iﬁ\c QU\}.};}\ & e.\;l»u "which" G‘AA":‘ sl A.r"“‘“n tanall

e.g. | want a watch which is waterproof.
"objects " = s = dea = "watch" 4clull 5 "watch" 4elull e 35y e = which

which il jeall Gle paie " antecedents = Cunwdl" =Watch

1- Personal and Non-Personal Relative Pronouns-iuaid ,all g duaidll il jiladl)
The relative pronouns “that” and “whose” are used with both personal and non-personal

antecedents.
}Jw\;u\#\}uhﬂy\@V\‘ - ‘_.,—"—‘,,A"‘ ™ ‘):‘..:‘523/‘. “ QJ‘_M\@AA&A? ..ju that“}“ WhOSE"JL",, ‘)SLA.AAGQ}

e.g. 1. There is the driver that was speeding. (“that” used with the personal antecedent

“driver”)
4 4las = that was speeding

Ol Gl = " emd" (s eaie ga 23] o yseun = that

.that sall Glull jall " gntecedents = <@l =Driver
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e.g. 2. There is the car that was speeding. (“that” used with the non-personal antecedent

“Car’,
4w Aea =that was speeding

e = padd 2" Gla jeaic g il o e = that
that sesall Glal jaiell = " gntecedents = vl = Car

Note: “Whose” gives the idea of possession.
cg_;aﬂ\ cialia g;‘: Agmy A "ggﬁd\ calia" 4SSl e 5S4 g5.L::z_| " Whose" Jiaall
D QU JEall gl

e.g. 1. The man whose car you borrowed wants to see you.
4 Ales = whose car you borrowed

"ot JS Mo 88 () g ) dlea o 23 JS () 2 gan | i e = whose
\Whose ill paall Gl paic =" antecedents = vl = man
" Jal lealia g " da s jlend) ol 3 %8 Lilac | =Whose
D IS Cpilen ) aleal) Qi i 5
(The man wants to see you. You borrowed his car)

e.g. 2. We saw the castle whose walls were made of rocks.
(We saw the castle. Its walls were made of rock).
¢ In the following section, we will talk about the third type of subordinate clauses: adverbial

clauses.
4 dles = whose walls were made of rocks
(= jten = whose
\Whose il jenall 3l paic=" gntecedents = <winwdiil" = castle
"aa e g siiae "l (1 "l s " s e e siae 2B g o b 3S8 Lithe | =Whose

;yj\;ﬂ\s il ) alaall Jiads ads g

(We saw the castle. Its walls were made of rock).

Exercise

Which of the subordinate clauses in each of the following sentences is a relative clause?
a. relative clause b. not a relative clause

1. The machine which makes plastic bottles is broken.=a

2. The manager is upset about what the worker told him.=b

3. The problem is that he didn’t oil the machine.=b

V4. The worker that forgot to oil the machine is speaking with the manager.=a

5. They called a technician who could fix the machine.=a
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Adverbial Clauses-4é,kl i
Similar to adverbs and adverb phrases, adverbial clauses allow us to talk about time, place
and manner

" o) il 5 Al o S et e A B K01 il Jlall e 4,5 48 sl Ja

e.g | met Ahmed in 2005. (adverbial phrase of time=cs i« = . L)
I met Ahmed when | was travelling. (adverbial clause of time. =l 4 .= 4les)

He parked his car here. (adverb of place=g\<ati Js)
He parked his car where there is a parking sign. (adverbial clause of place =glsall 4 o 4les)

He drives carefully. (adverb of manner=" i " 4 L Jx)
He drives as his father did. (adverbial clause of manner=" -z i " .50 46 5z dles)

Note: The words “when”, “where” and “as” in the previous sentences are subordinate

conjunctions.
A5l Calae Gaoal e 3 5ke A8l Jeal) 8 "when- where- as " Jie Gl A Sle

Adverbial clauses also have functions similar to adverbs and adverb phrases. For example,

the adverbial clause in the following sentence is an adjunct:
A glae ot = adjunct” Ledf Lotk s G0 Alaal 8 dpnl) Alanl | 28 10 Sl aally iyl agilia iy Liag Leaad 48 S0 e
Mo LRl (S 4dlal

e.g. | met Ahmed when | was travelling.

(The adverbial clause “when I was travelling” is an adjunct.)
Aaulo¥) Alaal) agilion) da slae Jans el Wit 5 4 )k 40 dles = when | was travelling

Compare: [ met Ahmed in 2005. (The adverbial phrase “in 2005 is an adjunct.)
In the next section, we will look briefly at examples of some other types of subordinate

adverbial clauses.
L3 lie
| met Ahmed in 2005
. 4lial daglea = adjunct Ltk s s "aeals el a3 " e e a5 A,k 3 5le = in 2005

Other Adverbial Subordinate Clauses -: s Aj 4 b &ag Jaa

(Conditional Clause-ii i ileali)
you finish reading it if Please return my book

(Comparison Clause- (i) dusasll dlaal) )
Ahmed is quicker_than | am

(reason clause (i) dikial dleal))
I couldn’t open the door because | used the wrong key

(Purpose Clause- s 2l ileall)
. he wouldn’t hear the noise outside so that He closed the windows
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Agbiial) oLt (mns o ol 4l Ay Sl

Phrase :

dad & (s 5ind sl el & (s 5ind (5 el aal e i " Jlac e ¢ ddia ¢ addaic aganl o jlie " Lee ) 5l Cailiaf Loga "o jlaadl” dlaa
) dui g o 5in3 (S dleal) Y | ALIS Aleall o L 5yl o e andl Lin Ul 335 o ey deil) 5 mus¥) e (s sintle o<1
"The children went to bed late" Ul JUAlS Leudi o jlnll (10 ¢ 3 (5 5Ss e Jadl)

"The children " & & 4! Jlall (e 6 3 (e Ll Legy Le 41 went 58 5 Jd Lo aiilud) dlaal)
Clause:
Subject +verb = delis aul = Jeli 5 Jad o (5 53 () cany 55180 alaa
Wit e 5f s alen (555 (Saa 5 Jad 5 Jeli g (osind ol o o8 AldS Ales () 5S5 b 5
Finite verb:

= ) + o) = M S5 =01 attl) iy /Ml g el bl " el s i saaa) Jadl
S LN e gl 2 jka 2=l) /"l " dse Oty (Al il

1 am eating = ds¥) paddll + 3 ke 22all + & jlias a3l
You are eating= Sl (a3lll + aex 222l + & jlaa )l
She was eating= Sl ad il + 3 )i 222l + sl (e )
We will be eating= Js¥! sasdll + aan saall + Jaiasal) (a3l
vs non-finite verb:
ol gmn 8 80l Allay iy s 1l a8l a3l ) pa 30 iy 5 Y . aasa il Jail
| am eating =

_ ) gf gaddll o) ¢y LG o Al ALiaY) aaa A eating =il
You are eating= Rl g (e ) g ) CENER) pa saalg Alla a e Jia

She was eating=

We will be eating=
Jasd o;\)m dalaldl SPM\

"oy C\_t\)ﬂ\ "Lﬁé a;b’éﬂ; a‘).ﬁ:\aj\ a)'a\;.d\

Mbm\f\ia)g'a@\

aS) e (e L gt Y

Suzy + @Reema501d: e
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